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A#*,?ffTf nlglW6s?
Htzzi:ot ffiu-oi-2ors

66fiitafi ffi il<r +fi Etv ?r-E'f#re * tflHH Tr#
s-dd t"l

rIF6' 1 :- treS t rg + BE u qrrrrd aIfu kd*'a?

(l) gq lzy riaro 1s;6iae t+l Xforrr*

2 z 3 *+ f em+cre gr f#e fu&r

(1) 3.07 (2) 3.7 (3) 0.37 (4) 37.0

3 z- rirra sq ff# &* rs eis fdrB'trTs EE m+ ua?

(1) 13 (2) 7 (3) s4s (4) t7

4 z- +6 fir+ r1r?r f+ ffi + ffi dd fttt dr$ Arufori fE:u f*q tr
fE?r f*T d trr-a fE? di{ a 6-S d Uirr dir6, 6gfr Efl Srs m €E
qi:
2, 3, 7, L6, 32, ... ?

(t) s7 (2) 37 (3) 48 (4> ss

5 :- Dfdrffi HTeAE )a,t6lrr<I fuds',lftrg Lrfu')2r+dr'?

(1) CHArR (2) CHARM (3) CHAMP (4) CHArN

affit=r



e#*u6+ngtW6e?
H?z zi :oz

Ans 1. f{g
Ans 2. 3.7

Ans 3. 13

Ans 4. 57

Ans 5. CHAIN

ffi 02 -oi-2ors

Answers of Sheet No.01

06 :- )rr?r gs"_e€ E'B se{€t + sr$ '3 kE us<ftr S *ffir d+ fS
tr
1t)iloo+do. tzl ko.il. lsy ridrilraa tl) a€u-a

o7 z- 'fuqr6' HTe s fr gtr #r
(1) fsea-d (2) fus€rs (3) fuse'?r, (l; +se'?l,

08 :- rig'q oq €# irq mrr 6S ft{+ trTo Er} ffe sa?

(1) L3 (2) 7 (3) 24s (4) e

0e :- t6 firt uF6 f+ xH s f* r-* ffift ars AraH ffi, *{q d
fq)rr'?r fdu Ei{ a ErEl d Ssr {o?5,dr$ Ed gfd el ta qE:

ll, 13, L7, Lg, 23r.......... ?

(1) 26 (2> 37 (3) 27 (4) 2s

10:- )2ffifr HTe 'coNsrRUCTIoN' t afirsi + +6 f6firl2d,f€E

fildgr HTg r& rEfgrar rr nmr ?

(1) SUCTION (2) COINS (3) CAUTION (4) NOTION

,=fg amt=r

..ftfleaft fefu us +fr i#F ?5€t'ffir€ ilrd u"d* t,,r



ETz zi :03
e#+rrt6#7HErf W6s?

ffi 03 -oi-2ors

1:- r+e f€t futr*'ffir6 Ff,r d liiledft eb rse tt
1ryffi*it 1zyffira* 1syffimrfr 1q ffim#

2z- fEfu fi{dDrc ffi.dq t rs,ao i}s tr
(r) r riq 1zy s eiu 1sy ro dr+ G) roo d+

3 :- tir'E o.s ftb Fs-f+ te r+ et)dr.&fq+ taafrar t
(1) ro x* (z) rs HS (3) te HS (4) za xS

4 z- fatri#rs atr6 Frd A il Erd,Er t et I

'Er{iEr f"$5 *E + p i}u'?r' E.fr a m arrs I
5 :- fegc Eftre e. fus# ft&dr Et I

,59 amr=r

Ans 05.

Ans 07.

Ans 08.

Ans 09.

Ans 10.

*or{E1il

fss€-et

7

29

CAUTION

eeftf=.ft ffi us +fi ds ?tet'trtr€ iil *flFH ilr& -,-+dt t,, l

kU



#*ffinH,irfW6e?
Eb zi :o+ H 04 -oi-201s

Ans 11. futfi{?t 5ft

Ans 12. tO dq
Ans 13. tg XS
Ans 14. ArGt

Ans 15. FdEil

"lifleafr Hs us +fi W re, trr€ * ifHH aT# s_+S t,,r

t6:- ri ilal#ftaor tr'=, i,Err f€b n6S A Bt. ,vE$rrgg tr
lty lcnihfrarx ,zrrqrrets 

1z; rr.ct lsy ar'q#ra g;r

tzz- *q R+e ffi *E Ftl?

(l) irglg6 6

(1)Es (2) iilir\ z 
-=

(3)*dfr t0 f*.qo
l8:-'s6g-urfrFsr?r. #, 1g+ 7 g ft aree * ffi ?

(1) n +EE (2) dr+at (a) rarcugst (+) firee,ftxis,
19:- fatrafutrs qcr6 E fr A rr arrs t

o F fi{+su _r tl
2o:- t6 fu+ .,H?'f€b rrH s fE? Fs fdJt ars arafta, H,f*q dfuxf6 f€b air e F# d ysf aE?r u* m* Fd s €u ari:

73.5, 70.5, 67,5, 64,5,

(1) ot.s (2) az.s (3) sg.s (4) oo.s

tuY



#*rrt6E?'HHrirf W6e?
E1z zi :oj ffi 06 -os-2ors

Ans lG. *cnfrfraor l2fr{Erel-g

Ans 17. fe
Ans 18. ftleEEftlagr

Ans 19. Fd
Ans 20. 61.5

"liieaft ffr uo +fi W ret ffir€ g1 tflHH ao?+ s-+S t,,r

2l:.- ,rftdrffi ffiser larffE f*ilsr HTe ffi mr-a. ,3 arrtar ?

(1) CLIENT (2) CASTLE Q)DAZZLE (4) TACE

222- illEr rsf?r.r +€ # B u-+ efur}f'e i*+ fila5r ?5i,IIr esfsrarr?

(1) dl-fs'Elfs @ 3ir63fi,?5 r1 atfi5snu to frflrers
232- r# e'.q f+ f{flu,r s efx 'grat Er' ftb t+, ffi fuug, qr6

afde oa ?

(t) gr*'o (2) ssE lfril, 6116 (3) gfri{ ar.6

242- F'itl in the btanks with correct articles.

I saw bov. _boy was crying. ( s, an, the)

252- which is the hottest continent on the earth?

(1) Asia (2) Europe (3) Africa (4) south America

,=liu dmEr

tuY



e# * r2rd€Tn7ftrJ ffiEzT
FU zi :oa

Ans 21.

Ans 22.

Ans 23.

Ans 24.

Ans 25.

ffi 07 -oi-2ors

Answers of Sheet No.05

DAZZLE

ild3r3l.,rg

iliIEIlIf?I 6[rdt

a,The

Africa

262- rffi ilF f+ €sts ffiit r:t.qE e iiB im'?

(1) f& (2) f (3) frb (4) rrr<r

272- kF's )2{isEe' S }rr€fr ftiB'rm d* iIfr ?t

(1) 5 + 10 Hr6 (2) t4 * zs r.o #a (g) 11 + le Er6

282- +ir's a"r €o frit fr0 uat

(1) le (2) 20 (3) 2t (4) 22

292- ulq s kds'gEr ,2rtr d f*d ffiF tiar lpti aus tt
(1) U1.s6 (z) arrcdatr (3) )rrfs{E (4) +&r'

3o:- ser e ltile'swarrs s * ?r a?

AEE=T

"'ffiiEil fig us +n i#r F€if}ftr€ d afHH ils# ses t,,r



#+r1t6€?'nwtW6e?
Hb ri :07 ffi os -oi-2ors

Answers of Sheet No.06

Ans 26. f
Ans 27. tt # 19 Es
Ans 28. 22

Ans 2g. lrfrfirdE

Ans 30. iIrH i;rtr Afrge

..fiffi f+s us +fi qig ?r€. fii,r€ d *fHH {ee s-&6 t"l

31:- t{d,fr Fdg B }rtrird' 
=rlfl+?t ............o..

(Q) gg.o"F (rrf) 37 "B (e) z2.F (E) 212"F

322-'ffi s rEors, fts s-e$ fir5-fr d fu. mer A ?

(g) ue#s fif,ur (Dr) ueare fHur

(e) *trs fo)rr'?r iis 1r; ur#s rlj6 fHur

332- rir'fr ErrF er ffi ffi{ xftrs fuds'4, frE d 't-' @€ x} Br s
.' v "uffigtnigra

Lro E!-q E

(B) r (Dr) 6 (e) B (r) m

34.- rg # Bd 5*i fF+r{'ffi tt

(€) z (rrr) -1 (e) 1 (r) o

' 352- Who is the first citizen of India ?

(€) fne Chief Minister (ttt) The President

(e) The Governor (x) The Prime Minister

,=rg amEr

tu



Fte ei: os

Y

fuT + ffi'nHs i HeryryaW zw?

M og-os-2ots

?ta: gss )'?rdr& ft,. et #e f# afr ilsfr,re +a fslr-dfr xrag ai t

Anqwers of Sheet No.07

Ans31. 98.6oF
Ans32. ftTg fuh{er #
Ans33. e
Ans34. 0
Ans35. The Pnesident

"ftffi f#o ue +fr g.s ?rei' fiiEr€ ;1 tfuF q.rd E.-jt$ t,, I

{r5 35. Fittinthebrankffi

qFa 37.

He met 

- 

European in the market. (aranrthe)
"!frPefr ifgrrf' E rd qig1,, frE dfo e, r5*a t f
(t) fstqy g' (,2r) u,refr *a er"
(e) Fd e' (x) trsf er

1[F6 38. dB dlfu i m+ r.o kx dIfo g ilferrr r€r A?
(e) qil* d ()rr) gq g (E) Efrs d (al faro d
hr;rg srr e r{ffi {q,?, }ir$ *e raf
(e) ffi fCsd'artrfr (nr) fr s,.frig.d 1IEE
(s) v: )rdlio?r friut (E) ffys FrE"oo uo rfus

=rg i id ,fl-g,H lifir)rfr fror* t r

uE6' 39.

LIH?r 40.

(B) z (rrr) t (e) : (r) s

f,5E



-7rr .tr. iAt E O

(e) srr (Dr) ;11116. (E) fr ri6r, (r) )rrrr+dr

qEtr 42. ftt'E i fti6 ie- s fu ftit ffi Ele t ?

(e) 3600 (Df) 90o (s) 18Oo (r) 4so

uf,r6 43. xd# Ffid s yr+rr6 HarE eB.Eirs d 6fr fdir iTr€r A?

(€) qexr,fizo (r2r) H+eo (e) e+lfteg (a) FiEF*Lr

yH6 44. fu$ e UH.Ef6d trfr dE ib tr
(e) fu'ffiry )"r.eFftr (lrr) fiH.#H.fi.

(E) frsu m,rrii (nl BrrA dfi{F6o

t{86'4s. t6 ftfifl?{t'k}'ftro=r'dfl€aa u fuiz HEE zs# t ?

(?rr"9r (>rl afr-ies (r) flia (s) ue?a ta
*a: $rs )rrarB fss, d #a ffiu ii r-e&,=re +a fsH"dft arcs ar+ t

a?z zi: og ffi to-os-2ots

Answers of Sheet No.0g

Ans 36. a

Ans 37. d'rafr *a er
Ans 38. TilS d
Ans 39. rifys ;t€-fd rFo rftrEr
Ans 40. 2

"ftpafqv f+d )d'fur' ffiE t fuIT i dzE,&il6 # E1H ta s 
=.s 

?rEiT de,,,I

ril
' L?8f-],tri'

Iiqllr:'

fuT * rrt6€T nHry ? Mtn 6e?



UH6'46. FErr u'r-fr {et fau*'tt
(e) ird (rar) a_rrs (e) $gr{ (H) +r'

qta?r 47. fm ffi{v}r'}rf{ UE-fr ffr }rffifr €rrE}rru A fdQ'xfrrd'u Uddr
de, tt

(B) s ()?f) 6 (E) 7 (H) s

{H?l48. fu TS d 'fuilor g II6sr6'' t 6+f ?58 ilfE}2rr srgr }1 r.
€) fre glrd En6fr d (r,rr) q& s+r ufEq 6
(E) ffir#s fifitu d (x) usrin o€ * d

r,4m 49. gr€:r m,Ern dB'6.drffi'd ffifi d? rrrrcrrg ffiEr ?iE{ B m rfd
@ uot

. (t) ro (ry) t2 (e) 6 (H) t4
t{F6 s0. fr ffi ur€t Eu6'* t *{ * fdr}rro dl+ aee't, ft d *

fq.O'grgr }7
€> uUuu (nr) rsr+ry (e) Ud.g (x) fes.o

H1z i: to

ta: Srs )?td'B fsa, d fre Hs afr irtrA,=e *d fs,{tfr ares a+t
fra ?is{ oe B Ffr trgr

r{F6 41 (rr) iruqn t
qm 42 (E) 18oo

t{tr6 43 @ rot++fra

qro 44 (x) fau4 afi{Fdru

r{F6 4s te) flia

ffi n-bs-zots

..frpqr6 ftd )?rfudr arfr€'t frH e dad,+de # AfH ta e'rs rff ds,,



e#*ffi'Fnftrtffi6eT
H1z zi: I I

' ,t Answers of Sheet No.10
,J

'aa

Ans 46. Hif
Ans 47. 7

ffi t4-os-2ots

Ans 48.
Ans 49.
A.ns 50.

fue gH'u ra'sd U
L2

a
u6rrg

t:Frd 51:- 'i* * eq' fuE * irs.5r

(e) fr grg iftie friru * d (ra) fl W 6tra +€ Fft

(s) fr qrg ilH sr # * (r) fl ry )2rirr6 +€ # *
t1mt s2z- furrree e ffi,fYs $# aw f * fus'r'e a?

(e) furr$ grxr (lrr) Hrs arrt (e) Bu-grrr (E) i6sls d gw
t:tr6 53:- Etxs +d(tie * d#) r-#tft F+{ fds Fs + #* d* f# tt f#a / i,r6mr)

UEir s4:- 6rrfr rrfne's fHs rg + +s'atfo (preNEr) fuoE tl
(g) qn* (EARTH) (hr) )iur6 (MARs)

(e) m+ (sAruRN) (r) fforrr$ (tuplren)

UEr6'5s:- 18os + d3 aooe + Ee de (aruaLE) s ir+r dFf
(e) ffi{H *a (nrrr-Ex ANGLE) (u) }Rrs ia (nranr ANGLE)

(r) fa,Sr d= (acurE ANGLE) (E) ryfo{ *e (oerusE ANGLE)

ta: $se l?rdrB fu6 S #z fig at ;r'EA,re +a fs,{"dft arres a+ I

"ftyrrr?r ffq )rrfuor drPrs't frrH e SzE,+cE iT'Ef'H ia s yo d# fu',, I



#*ffi'nHry?W6e7
H?z zi: 12 ffi li-os-2oLg

uF6' 56. qilr HTd.s ffi i'la !.(-.

tel ilrs (u) ffiit (E) rifdr{ (H) LiES

t:1rt sz. rftnadeu u'at t yd HA * urao'' aE enrfr t
(B) ts vxdws t947 (w) zo rrefr rgso

(s) 13 u{o ro+z (x) r: rr{o rsrs

ItH?s s8. t6 fir* u"Hif€# fuas'+f,ra u qmr'* s"r ir# tt
(e) fuJ'd (ur) ufunrrer (E) flu-Fiffi r{eg (r) sqrq.6

ItF6' 59:- irir Etrt gte:r €g Chilaren's Day ar} rrarferrr ile' A ?

(B) s migd (w) t4 6fud (s) I ){fr (H) 2s e}tsd

IIHIF 60:- t * too Eiil fara$ fur#erart' n?d "2" ffidil g'e Dags t?
(t) tg E u (hf) l0 €,iil (E) 20 Erg (H) 2l Erd

8z: 9rg DrdA fs6 d Efre f+s afr ir.€-A,se ta ffi mcs {e t

Answers of Sheet No.1l

Ans51. frW*frfrirrr#S
Ans 52. furr* grr
Ans 53. *{
Ans 54. TfurrlI* (JUP|TER)

Ans 55. ffirr *e (nerr.Ex ANGLE)

"ftp2p6 f+E )?rfuo'arfoE a ftF t dae,+il€ r'qf'r{ ia s re r& fr"'r



UF6'61:- d;a rr er* rg + dq trTs ftm vq f+# grtfl'€ u6?

(g) fro"s (,ar) $s,+ far6r (e) grd.Itr (r) *q r{}H

q*662t- ffi unre D{6Fir Ea} e ft{e' ffi (EDGE} iiB uat

(B) ro (nr) 6 (r) 4 (r) tz

UF6'63:- mrft s r*ffi +5'rffi'E e fq,IT Hfos He #ars tf
19) )r,@J-s E'fus (Df) t-dsrs E"fua

1e) utfl5sre (x) gftr'2rrsr

rIF6'64:- )rrfrrt il?rgg t Ue x,r3 g* ilassi f, rrnra +r?r Es€"
ua, $ur g f{s'sigr }r
(t) rrarorfr 1ryy yrsorfr

19; Fsalrfror+ (r) fsua+ f+# ** ir#
t{F6'65:- il<rir S s'Fafr Usil ffi ?t

(e) *o,'s (rer) anrs (e) Sufis)rr' (E) +E

#a: $re )2rdrB fu6 * Efre f+u afr ;T'da,re *a fe,{,rrfr arss a+ t

# * ffi Htftr g pfsvpqfutr 6e7
taa

Hr7 6: 13 ffi r6-oi-2ots

Answers of Sheet No.12

Ans 56. trdl
Ans 57. tg Dfqp 1g1g

Ans 58. fuO"g

Ans 59. te A€fe
Ans 60. 20 gtil

"ftp21q; fiq )2rfus' drFds'A fnF t fea,+c€ r' ef,H ie s rs r+ frr', I

M
Erkqe

U



HT*ffinHqf ffi6e7
ffi 17-05-2019

rlHd', 66.
Afsnr

t{r6 672-

(g) T1 (w) 2s (E) 6s (H) 81

fsnfro efr rrrs f+" '*'A' ffi +ts'd* s-S ?t

(e) EEf{v}i (vrt) arafuatr (E) H txl rifunt'

ffi{d 'e' * arft area tragr +dT i #e'A?

(e) ld-nfr (h{) td{a
r{F6,68 3-

(E) xbd'.g' (H) ffid.#

Ur669:- sGIHrd mT a,rd-lhfi fur'ft e fdd l2ftrd u6' ?

(Q) 42 (D{) 41 (E) 35 (H) 26

H ro €s gt fird s'B fdd ffiB iie u5?
qra70:-

(g) 8 (w) 1 (E) s (H) 6

afr iT'sA're *a fet{"dfr arcs 613't

Answers of Sheet No'13

Ans 61.

Ans 62.

Ans 63.

Ans 64.

Ans 65.

grs Uem

L2

E tr-*srs Efoa
rggnr.g.fr
Eufu,r{'

,ftpe,rr6'fria urnro aIfT€'A fiffi e dae,qug # flr fu s ts ?I& fu" 1

ffiU



a?z zi: Ij
#*ffinHEr?W6e?

ffi r8-oi-2ots

fu: 9ss )?rdrB fra, S #e fds aA ilE&,se *a ffi arcs il+r
Answers of Sheet No.14

7t

Fofil,rtr

)?fiT6rrsr

4t

7

ldEidTl:- What is the full form of R.A.M. ?

(t) nandom access memory (rA) Realaccess memory
(e) nandom accurate memory (E) Read access memory

qH672:.- scr er swed a'a fuo=r'tt
(g) *s' iidr t E i* +.r' (rar) E't Foi t )2fis,

(e) €B rrsor (E) H?, ar6 H6.

rJF6'73:- sqr * uffi Hfo6'swarrs ila ra f
(g) ffi ftbd'artfr (rrr) filrS Ufrs, H r4B-
(E) ,firrS EEf, Hitirn (E) fl,r$ HH=rr }6fi#

qil674t- *ltr u fufr'e fu7} rf+B f+s lfdrfg.2fr rrer t t
(g) s€. fYg (rrr) IT,-e€ fHu (e) xfg fEb (E) t6 f+g

Urr67s:- ks?r (Ray) s............ard8a fiffg ds af
(B) ffir <rr> Efl+ (e) t (E) arsorfu=

Ans 66.

Ans 67.

Ans 68.

Ans 69.

Ans 70.

"frraral ff{ }rrfud'arFre A ftE t dzE,+d€ n'Ef,H te s 3-s il,iil fu,, r

tuU



Eb zi: 16

#*rffi'FtlBeW6e7
ffi 2o-oj-201e

Answers of Sheet No.15

Random access memory

t6'itr6 H6

Ans 71.

Ans 72.

Ans 73.

Ans 74.

Ans 75.

fitr$r1Frd'+du'k
H'fu f+s
tra

UFd/6:- frrs * rg + 5d'€1 U'rr{ ffi a?

(O Err{?e (}rr) E-trs+e (s) fEar+e 1x; urree?e

qra7lz- ffi )rr{Hrx tr+ g'Ts d i fdfr}r{r ffi €rd tt
(g) aea ttr' (u) rao ?q' (t) g-)iq ilf, (x) +e A{'

qrnil8:- e€ gcdT'te.' aea Hg srys s fuer* s"s lH t f
(g) uturdr r$m (rrr) airarrr (8) 3'01156-9 (r) iso'

qrozs:- gl-S fisEfd airtr E * ss3 r.e eB 8a # #Ts e ,ffe d 6ft fudr #-er a ?

(O {d (Dr) idil (s) yFF (E) Sard

r{F6' 80. fit{ i4s +}r{t fti?it}diEHfrrS tt{-€i (symmetricat tines) f*Eft}dt'sr ra$att

tm?

(g) ffn (lar) ** r& (e) uraerFs (r) €

aE<,:r

"fr14s6 fi*d )rrfiro' arfoE a ftE e daa,+a€ f,t' ef'H ia s =s 6dT fu" I



H1z i: tz
tuf *d*rn=tffine\

ffi 2t-os-2ors

t{mt 81. trilas e dH ffi frrd fto g'es u fffi'aq'?r tr
(e) 5' (nr) *s' (e) Ifs€i (H; rire,'

r{16 82. €'eft'hlr s gm a. * frt
(g) ddfu?1, (ry) tiw E]-r,rs

(e) hfEq )firr6 (s) <reresqa'

qH6' 83. tfu,?lr i q'dr EE gE fr r1f+Anr d * filo' stsr ]1

1$; ae'l8t (h{) 613S (E) yErS (r) trE
Qu 84. How many vowels are there in English Alphabet? l

(B) zr (b{) 3 (s) s (H) 26

Qu 85. Find the odd one out?

€) trdu, (ry) r& (e) $q (H) Eiln

ffiz drs 16 e Ffr ffrs
r{F6 76 (E) ffiE
{mt 78 (s) 3r0{6a,E'

t{F6'80 1e; vrrefut:l'

tW 77 @ xe*il*'
{F6 7e (}T) *dr$

e.frpp6 trq DffiTd'drfda- t ffrH e da€,+il€ fri AfH fe e'as rfr Ss,'

I

tIB



tu?Y

fuf *ffi'ntftrtfeManwT
Ebf: ts ffi ;.?.?:9.?.'3?:7

r's it,futi'ffr sa E{q t rl*tffiffi urnlrot
It qi (?) d gffi rrfalmt ErE 3i i. Sf ftffi am-rft Edq Ire'fiJ-J i'nit
r{:86.

(a) A rolA G) IN
{:87.

{:88.

u:89.

(a) O rol=7 ,", +
g:90.

(a) e (b)o (.)+

?a
a

aa
aa

a
a

a
a

aa
aa

a
a ?

(a) 0 (b) A (c) tr7

a23 : :: ABc :gzi ?

(a) cba (b) H (c) cee

vv vn ?a
a

ara
aa

a
a

vv ?a
a

aa
aa

o
a

ur6 8r (e) ffi'
r{mr'83 Qrf) €rS
{ra sJ (E) trffi

UH?;82 (e) edfrPrr

{m5'84 (r) 5

*ftpass fe )?rfird, arfde A ffiH t da6,+cE H' dH te er rs rfr ds"

DC



fuf *ffi'Hl{sf W6e?
ETz i:te ffi%-05-2ors

*z: Srs D{-dr& fe?r e1 #a f*u afr ilca,se *a ffi arcs iler

Hz f,rd t8 t Ffr gro

UErd 86. (c)

r{F6 8s. (c)

r{Fo, so. (b)

ltFd 87. (a)

r{F6 89. (b)

qEr6 gt. r.3 d?fr S (Nationat Ftag) ffg Fs + Srd ftugr ifidr A?

(e) &rfr (ta) wo (e) ilo' 1p; rBe
t{F6 gz. tia zt"{ }ifi*,?rqf' (odd Numbers) s +J uAE ...}ffi+?{r f,e,

tt (&/ fHB)
t{F6 e3. W 6r6n Ae # t #dd d Frd.,g€ ufr nf#,rr ffi}r{r (rrrynr{

61rril€i ) *S)flr I

(e) ffr (raf) eE (E) hf6 (H) uE
{rd 94. What is the fuil form of CBSE ?

\tF6 gs. fxmr fS'fTffi'HE?r rtdrd'lr (presentation program) tt
(B) rxcer ()?f) word (a) power point (r) paint

"frp24q5 ffi vrmo drfo€, t firre {izE',+oe il af'H ia s ro aff dB,,



M
#*ffinHsf W6s?

H?z zi:20 ffi 24-05-2ots

UEii' 96. qr$ 
=? 

ffi ar* aqai. f*rffi
(g) EsfFf, ar$ (rer> ?ftra ar*

-9iF6'97. IiE"g g mr + ea )firlrriilE (Ocean) fuils, a?

<Bl UrB lrorFrdrg(Pacific ocean) ()2r) ,rtq Hordro(Attantic ocean)

(e) ftie )folrdrs(lndian ocean) 1rr1 ureab* Hfu'(Arctic ocean)

UH6'98. Which command is used to copy any Text or line?

(B) ctrr+v (rr) ctrt+c (e) ctrr+s (x) snirt+e

t{H6'ee. t6 fufi+rrt fd# mu s rg + Ed ffi ffi tr
(t) fi+&fra lrrr; ilzhfra
(e; $;y1=" (x) ffiifta

urrd'100. fuft ergdtig yge DfErH f'ff*rrf-€i Lnrr air6,* rrrr"a fgEfr f{E farTrggE +8.

f*ft ar$r

(t) ffi;s (nr) rrrffiss (r) )2rr*)2rr +a (E) Er-dfug

Efte ?iEE 1e + Hfr +fs
1IF6 el. (e) ffi qFar 92. aq 1[F6 93. (E) €lE

t:ttr6 94, central Board of secondary Education q,H?i 95. (g) power point

"ftp2p6'fda )?rfuo' arftE a fuE t gzE,+oE iT' Ef,H te s 
=a riit ds', r

tu \,\-----'



+#*ffint*f ffi6sT
Hb zi: 21

rdr6' 96. (rr) erfr{ ar$

qra' 98. (l2f) ctrl+c

qra'1oo. (e) fts€E*cr

"fr12g6' f;ff, )2ffuil' arfuE ?

ffi 2i-05-2ote

qra 97. (r) areafuf, Arctic Ocean)

r{F6'.e9. (e) fi+cr}fla

fif6 a Efulrf,

(O )1frq.#trd u3 a"#ra (u) u"1ffitr6 ur3 urrafrim

(e) Frgfu}ffi lrf3 U'tlE€td (F) arsra, s"etramrfw ),f3 atrr4

UH6'102. How many centimeters are there in a foot?

(B) tz ()rf) lOO (a) 30.48 (E) 250

uF6',103. is the National Game of lndia?

(B) raUaUOi (raf) Cricket (E) Hockey (r) Football

uF6',104. Which is the smallest state of lndia according to area ?

(B) coa (ttt) sikkim

(E) Nagaland (x) Mizoram

UF6'105. What is the fullform of EVM ?

(t) etectronic Voting Machine (U) electronic Voting Mark

(t) Electric voting Machine (E) Electric voting Module

xte ?irs 20 e Ffr grd

ftE e Saa,+ag #'Ef'H ie s ts d& ds" I

i'dB' ,

ps{lEq
\



kT*ffinftrf Woe?
Hb zi: 22 ffi 27-oi-201e

)2taI f{cs'a?

(B) fss (Heart) (l'f) fudrs (Liver)

(e) feH'ar (Brain) (x) Elg} (lunes)

r{H.6'107. Ersdt Hfos (Pink citv) fd,E Hfos d fd-o.' Hl-s a?

(O )rt0frrd (u) fEfi (E) ilIs (x) tggqe

r{H6108. is the National Bird of lndia?

(t) sparrow (ra) Peacock (e) tarrot (x) Crow

rd66,lge. g-fi {fr ffi ?i q.rs 3 uiig.€ 66!fr fr*6'rr+ #org ?r

(€) soo frfrla (Dr) 4oo ilfuk

(t) 450 frtub (H) 3oo frffi

UF6'110. What is the fullform of ATM ?

(€) eutomated Teller Machine (rf) nutomated Teller Mark

(t) Automatic Teller Machine (E) Automatic Teller Motar

fu #Ts 21 e Ffr gss

Uro, 101. (lar) u"#ra uB u'rrafuc.

IfFd 103. (t) HockeY

r{16 105. (g) Electronic Voting Machine

,ftp,sd fird )2ffirfl arFd€'a ftE e szE,+o.€ # d',H te s 3:s EiT fu" 1

r:rFd to2. (E) 30.48

Urd 104. (t) eoa



ns) F rf,€t'd?'fr

alit)2,;i?

(t) rg+z fYg (Dr) tgsz flis (e) tgso €g (E) 1e55 ffs

UH6'112. tiild qfo (Venus Planet) d iE kr r+r 516 ilfE'afl gre' A?

(B) gtue Planet (taf) Red Planet

(E) Morning and Evening Star. (E) Big Star

UH6'113. How many continents are there in the world?

(B) rour (ra{) seven (e) six (r) ren

r{Fr5'114. ur* *rrt EtW 5 E* k* r*a re -rffi',tt't
(O fi5g6 ia (Rcute Angle) (Df) Flr ie (nicht Anele)

(t) )2ffo{ *a (oUtuse Ansle) (r) ffiqr *a (nettex Ansle)

{rfl15. What is the fullform of LPG ?

(B) t iquefied phosphorus Gas (ry) Liquefied Petroleum Gas

(e) Light Petroteum Gas (E) Light Phosphorus Gas

#a ?irs 22 I Fd grs

Ur6 106. ()af) firdrd

rIH6' 108. (taf) Peacock

tuT*ffintgf Woe?
ETz zi: 23 ffi 2s-oi-201e

uF6 107. (r) ftJ-d

1116 loe. (g) soo ilfri5

Urd 110. (e) Automated Teller Machine

"6p6r5'f;+fl )2rfuo'drfoE A firE e dag,+a€ Hr dx ia s Ys d& fu" I

ffiU



#*ffinttryf W6e?
877 zi: 2a ffi 2g-0j-201s
r{F61 1 6 . qoit }rr'.re1 fA gtv@

(3) aav,ffi 3 (u) ssuffi 3
(e) n%ffi3 (x) goffi3

tIF6,117._isthePresidingofficeroftheLokSabha.

(B) Prime Minister

(u) Speaker

qra'11,8. The

(rr) eovernor

(x) Chief Minister

is the longest river in lndia.

(€) Oanea (raf) yamuna (e) Suttej (tr) Narmada

r{F6l1e. figa }fto f#s ffi ar* iiB uot
(B) tozo (u) t76o (s) looo (E) 1600

t:tH6120. What do we callthe young one of a ,DOG,?

(€) puppy (ra) carf (s) Kitten (r) cub

Efre ?iEU 23 e Fd egsu--

LIFa 111. ()af) tgsz €g llrd 112. (g) Morningand Eveningstar

t:ta?; 113. ()of) Seven t:trd 114. (A) )rffofl dia (OUtrse Angte)

lfEr6, 115. (ld) Liquefied Petroleum Gas

"frpaso EE )rrftTo'drFddr a frF + Saa,+fig f,r,qrlr te s ys arft dsr,, r



,=rE

ffi o2-oz-2ots

aEir=t

eJ'E
-E#+)lra# nHrygffi6e?

E?z zi : 25

ee fti=.ft fYs us €H ds tlgr, fifibr€ * *fHH Trd s-es t,, I

qmr 121:- 'A person who tries to break into people's computer systems.

(A) packer (B) pecker (c) Hecker (D) Hacker

vil6, l22a- which is the second highest civitian Award in India?

(A) padma Vibhushan (B) padma Bhushan

(C) Bharat Ratana (D) Veer Chakra

tIHi6'123:- ffi -gfut 
-)iFg)r{r * {trq *a tl

"Kikli " is a famous game of _-----______.(girls/boys).

qild l24i' I buy a purse. Give second form (v2) of the underlined verb.

qxrc 125:- Meenu said ,"The man going on the road is my mother,s husband .,,
How is the man related to Meenu?

(A) Brother (B ) Son (C ) Father (D ) Uncte



i,sr#I r(G*

FNjii

Hb zi: 26

l[Fd L2t. (Dl Hacker

r1mr 123, q*ti (eiils)

![F6 125. (C] Father

#*ffi'FITBtW6sT
ffi o3-07-2org

Efre ?irs 25 t Ifrfr gfi

lffid 122, lAl Padma Vibhushan

t{fdI 124. bought

"fiieEft f+s us +fi *s F€t fiftrE * *fFH ard s.dd t" I

qFal26.You-(must/have}keepyourpromise.Choosethecorrectoption.

Uf,l-6'127. Panama canal connects Oceans.
(B) etlantic Ocean (?rfq HiFFtlT ) and Arctic Ocean(uwark rowcrs)
(rr) atlantic ocean ()2tq HitrHtiilil ) and Pacific ocean (Hrg rrotroa)
(e) Pacific Ocean (Hrg tfgrErdrg) and Arctic Ocean()dri,'iilk fefWAfg)
(5) lndian ocean(fti€ rswerg) rr3 Rttantic ocean ()2iq rowag )

LIF6'128. tBrrrrero E d 6fr fu{'Se' a?
(g) m ilr+g€ s iar (Dr) fi€s s trs
(F) +fr aird s iar (x) gfr)rrt it'o s=r6 d r'e

I

rIH?5'129. Vfhere is "FATEH BURJ" is located?
(pl Sri Anandpur Sahib (rt) Sri Muktsar Sahib
(ts) Amritsar (r) Ctrappar chiri

r{H6'130. The line passing through the centre of the circle is called a
f6r6 + e?s f€+ * &rS +r{'d * fao'rig'A?
(g) fet f'E (Diameter) (,rf) )afiru fu)rrrr (Radius)

(t) eluq tr+ (Secant line) (x) mrsx ?r+ lrangent line)

8z: $so )d-drB fu6 S Eflz fts afr ils&,se *a fsx'dfr arss ar& t

tuU

il
.li

lr

it
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,il

i$
r$
!t

H

il
lr
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i
I
I

I
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i
i
t

i
I

I
I
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a1e zit 27

Y

#*ffi'HHqtffianoe?
ffi ot-07-2ote

rIF5 126.

!{IE6127.

t{F6',128.

\tFd',l29.

1tF5130.

#e ?iss zo i rfr $rs
must

(rt) Atlantic ocean (aiu HilrErdro ) and Pacific ocean (qm-s )rorErdrd)

fnl fs$e e trs
(E) ChapparChiri

(E) Alw ?r+ (secant line)

" G:ieall fris ue +fi ifv 6€' fiitrE * AfFH aud gdd t" t

UrI6131. lwtro is called the "lron Man of lndia"?

I (B) Sardar Vallabhbhai Patel (nr) Bipin Chandra Pal

, (e) ula Lajpat Rai (x) ruahatma Gandhi

{F6'132. :The "Teacher's Day'is celebrated on the birth day of-.
(B) lawahar Lal Nehru (rr) Dr. Radha Krishnan

(e) tndira Gandhi (H) Mahatma Gandhi

qEI6133. Highest Common Factor(H.C.F.) of two prime numbers is-.
(tt[) smallest number from both of them

(E) multiplication of both prime numbers

d?rdt var €o e'ag rr $ faur ftiE fu'rg a'o qfrirfr fi+dt
(e) ffi,rfrs'o (u) Iifr 6
(e) do
Fill up suitable article:

(E) &s'@

Raman is............ intelligent girl. (the/an )

(e) o

(E) 1

uH6',134.

ur513s.

,E



aTe zi: ,8 ffi oi-07-2ote

27
r{F6', 131, (B) SarOarVailabhbhai patet r{F6' 132. &) 

". 
Radha Krishnan

r{F6', 133. (r) rd16 ra+. (e) fis r{F6' 135. an

'.frila'fr f+s us ts etv F€if#r€ S AfFH *o# €-d* t,, !

ffi
liiftl

fiffi

iliffi

lii#

:l lH

ilff
I ' i:ll

ri{
iii

iil
i.ii
t,;ili

itl

li:

ti
ll

i'i'
t;
li

U

#*ffinuv,tW6€7

t:1ra, fge. I Fill up suitable Article

Sita reads ............ interesting story. ( a / an )
qml37, rru # S str"S il+ tr* ar* frt

i <e> 1764 (u) L7s7

(r) 18s7(r) 1e14

hen was the 'BATTLE OF PLASSEY' fought ?

@) fi6a (b) 17s7

(c) lela (d) t857i \r,,, lJr- \u, LcrJ,

r{F6'138.;8 E;g a,rrq +€ Ffr s r6'H frfB iferar frt
(B) uao' E fus
te) ,rlfiIsmu

(rr) akadrs E'Fdg
(r) u'fis *flu S s6€H

rIF6'139. Find odd one out from given figures ?

(e)

qfA'140. World Environment day is celebrated on

(g) 28th Feb

(e) 7th June

(ra) 5tn June

(x) toth April

E",N",H



#*ffinHrytW6e?
FU zi: 2e ffi o6-07-2ors

-,
r{Fa5'141. What is the other name of black soil?

UH?r'141. d,'.fi fiiA e'gm a+r * t t
(g) Fr8's flfA (Alluvial Soit) (rr) urs fi+A (Red soit)

(e) ffi fi+A (Sandy soit) (r) t_oo fiiA (Regur soit)

tIF6'142. Every drop of water ltslarelam) precious.

tIH6'143. Which city is called 'The city of Golden Tempte,,?

(e) patiala (rr) Amritsar
i 1e) Fatehgarh sahib (E) Anandpur sahib

UF6'144. What is the chemical formula of water?
yE, ,L44. u.€1 e'ys(bea Ers afr tr

(B) Hro (u) 02
(e) co (E) Coz

UF6'145. [olume of Cuboid =
(u) Length x Breadth x Height (b) Length x Breadth
(c)2(Length+Breadth) (d) 4xSide
(urerg u ratfua) =
(e) EiEdxf=n8x ffi (rrr) #a.gtxffi
(e)z (6tg"S+ffi) (x)4x Tg'

-
Hra 6ss 2g e Hilr E3s
!rE?r L37, (u) L7s7

E"f +f;s d s6r#, q,Ftl. 13e.

5th June

(tnr)

drr# s.ffi t"lffg us +n *s F€t'fftre d *fHH

l[Fd L36i, an
I

uH?5'.138.1 <x>
I

rIH6'1401 (r)
j

"h-rft
I
I

;li

irl

tuY



#*ffi'nBf W6€?
H?a zi: 3o ffi os-07-2ors

Efte ?iEU zg t mft ersY

rJE6'. 141. tEl tAg fii* (negur soit) qEr6 r42, is rIF6- r43. (raf) Amritsar
qH6 144. (t) nrO uH6' 145. (B) t-encth x Breadth x Height tris"it x ffi x ffi)

ee ftffi fdu uu +fr gs r€i ffrfs d *fFH Trd €-dd t,, I

Qu 146. Who is called the father of computer ?

UEi6l46. Effrrfa s flrs'H'fdr d fuor fier A?

(t) rtrales (rar) chartes Babbage (e) Aryabhatta (r) edison
i

Qul47. vrifri.tr metat is cut by knife?
I

(b) soair, (rar) rron (a) Copper (rr) Sitver
i
:

qEI6l47. frffi rngl, g srg ?i.6 iiFarf's'r*e" ?t
(P) i*)ror (ra) 8T' (e) ilrrg (ry 1er="

qH6'148. lget up early in the morning.

ji (change into past indefinite tense)

UF6'149. afea of Circte (iiils s tyceo) =..
(B) nr (u) znr (e) nrz (r) 4nr2

fr) (x)(r
rIF6'150. f{nA oAd one out from the given figures ?

(e) [) (]ar) il (e)i-/<>

tu
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#*ffinHsf W6e?
Eb zi: st M os-07-2ors

30

r:[F6' 146. (u) Babbage r{Fer 147. (€) sooium 1*frao+)

r{mr 149. (e) nrz rIFs l5o. (s)UF6,' 148. lgot up early in the morning.

Qu151. There are
(a) Five

parts of speech in English.
(b) Eicht (c) three (d) Four

Qu152. WHch gas is produced when fireplace is lighted in a closed room?
t

uH6',1s2.

(a) parbon dioxide (b) carbon monoxide (c) oxygen (d) Nitrogen
I

Sq at{e fr }rffaftfr E6E 3 ffi ;rftrdefr tfr T€S a?
I

(B) a'gs?r s'Srarqrgts (laf) aryE?r,itararmsa
(e) rrraftra (r) 6€t-c+r?t

Qu153. Who is the current Education Minister of punjab?

r{F6'153. rirrtr e rb€" f#fiflrr'ffi *e uar
(B) Smt Razia Suttana (zt) Smt Aruna Chaudhary

(e) ShriVUay lnder Singla (IT) Shri O.p. Soni

What is the size of each angle in an equilateral triangte?

H€suta+Ef*A ffiuiiu?r
(B) lgo" (bf) 600 (s) 18oo (E) 4oo

Qu155

uFd',lss

Wh{ is the captain of lndian cricket team?

s.s* f{az 4,{ e qq=fi;*a uat
(t) virat Kohli (ar) nonit sharma (q ru.s.ohoni (r) Ravi Shastri

Qu154.

r{H6',154.

"ftffi f#U uU +tr Xs'?tet'frftf€ * *flHE Tt61 er'deit t" I

tuY



56 firt UE6r A E?o dd:-
UFd' 156. 3 ?irs e* g'ar Hs Frfirs ffiB

s r+r #t
(e) xtfi1.Jrd (l2r) r+a 

=rf,d(E) H.a'F (rT) all-aqo
Urd'157. ,iH'" ry trfi+rr' *{5 s
yu uare t frH.t.frr. EEI(r ftt EflTs a' $o

fror 

- 

?iso 3 wrfsrar fapat' t I
"'-d

(B) ta
(r) 21

(u) t4
(E) t2

t:Fd 1s8. Urrrl' qlilsro Erfth frit
frQ PEg 1aifus ii: s) rfus tr

(€) rcary (u) Ffu6d'

(e) miqs (H) aUsEF

rIF6' 159. xtks )o( Ery tH ffrE * ft{'fTT"s

am uord t, s a+r #r
(g) fr !ffil (l?r) u'krs'.6

(8) gl.a?l (H) ilr'6

UF6' 160. rifiiE d utrq.# ii#dt= d
3 wrferar fapar tl
(e) cc
(r) DD

()2f) BB
(E) AA

Xx /.61

ir. \j
A !r17':/ \/ '.*. { ,.

{1. f' ,e S*r

s;u

t2'

-^*f'rs\ 2

#*rztef nHq?W6Y?
ffi to-07-201e

#e ?irs 31 e Ffr grs
lIFd 151 (}rf) Eight ltFd5. 152 lblcarbon monoxide ()?f) ArdE6 *B)r{ratTrfsg

1tF6 153 (s) shriViiay tnder Singta lrmt 154 (lof) 600 UF6', 155 (t) Virat kohli

"fiffi f&r us +fi d5 F€r f#fe d e,'fFH {t61 err.dd t" I

i{i

ix.
Ll,ft

llr

!il
ili
iii
l1;
tr'

fi
l!
iil

i!
il
ii
tirl

il
ii

i1

ril,I
,il
i,i
il:

ill
ii'

.

xTz zi:

fl
rl



+#*ffi'ngtffi6eT
H?z zi: ss ffi il-07-201s

Qu 161. Sita was watering the plants.

( Change into Present Continuous tense)

Qu 152. Who ls the first woman Finance Minister of lndia?

(af Smt. Nirmala Sitharaman (b) Smt.Kumari Mayawati

(clsmt.Sumitra Mahajan (d) Smt.Sushma Swarai

qtrrl62, sEE S uffi HFd.t'f€ ffi de uat

(O *tr$ f?ro{6'frsrtra <u> fiirS EHffi fird'61

(rT) filr* Em+ m;irrt(s) fiH* Ef,rf,d'Horir6'

eu163. ffqi e uffi W fr W ?tTfa +€ # B rrrnra }?f56'FHr ffie ffirrt
Where did first Sikh Guru Sri Guru Nanak Dev ji spent the last time of his life?

(e) f x1t7ig15,s E F€ (Sri Anandpur Sahi <u) * ua6 8 fog (Sri Patna Sahib)

(e) {esro5g (KartarPur)

Qu 164 which is the smallest composite number?

rIF6'164. Irs + Ed gq trf+2rr ffi A?

1x) utfl5sre (Amritsar)

(e) 2 (u) + (t) e (H) 7

is our National Animal.Qu165

rIF5165 rrrf, arr€d rrg fr<r* t t

(e) Royal Bengal Tiger €rt{) (}'f) t-ton (*s)

(E) Elephant (ud) (x) sear ('

ffiz ?irs 321Fd gro

rIFs 156. (e) xffr5E-g r{H'd 1s7. (u) 14 UF5', 158. (r) aSer6l

qF6 159. (,af) Urkr3?t' rlFd', 160. (H) AA

..ffi f+s us +fi iig F€t',fii,'E * efFH Tt61 s"dd t" I

tu
U
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6e7
Hb zi: st ffi t2-07-201s

EfT{ fdr}rf-6 S rrsr*

tlFdt 161. Sita is watering the plants.
qgr6 162. (alsmt Nirmala sitharaman (t) frr{g? fugt{6' #srylni
Um 163. (e) Ttsugrg (Kartarpur)

UF6 154. (U) 4 qra' tOS. (B) Royat BengarTiser(unrr;

eeftl=.ft fds ue +fi ds dEt frftrE s e.flFm {r# u'd* },'r
"rrfuz6n-i51 Bfr qe sftie' a, frH B fuflen+tqeirre d 68. rim u+.u* ds t r 

,,

\

Note:- ftid fu€-gl.n*s dtrss #s e trys FSd yo ad:-
€b'u (Answer)

f#sE uS lricture Series) (et (,2r) (e) (H)*M'*]AEEEENEE
**"U'HMEE@MEH
.,F6 *8HEEEEEEE
}tH?'15'iqEEE EEEE
*H?',?OE] E6EEEEE

-

Itre 6T0 ga t
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ffi (

qilal72.

U
*#*ffi'nysiffiEe?

trb zi: ss ffi l5-oz-2ote

What do we catlthe naming words in English grammar?

(B) pronouns (Df) Verbs (E) Nouns (H) Adverbs

What is the target of Puniab Govt. to plant trees in every village, on the

occasion of Shri Guru Nanak Det's 55oth Parkash Utsav?

rir"s mrcrr<r er fr W 6rd{ }; # t SSg Exut Uarm 9g.r€ ila

us flb f€s fd}$H 6aI'-eE s ds'A?
(t) rooo ()?f) sso (E) 121 (H) 1s00

What is known as vertical semi'spherical lines on the Globe?

(t) Parallel line ()?t) Transversal lines

(E) Latitude lines (H) Longitude lines

. dr&E grrd fiftn)rrr tt.5.dlr{iDfi'II n6-{.d a{Ea d dt fu sisr }z

(g) HH..t'-fs Ad'€r try) arzdzr'ild-fl
(E) )2{ErFH A{.S (H) fitrr{ Ad.fl

How many Yards are there in one mile?

fi#n rfto f+s fuid dH iie u6?

(t) rooo ()d) 1760 (E) 30'48 (H) 1oo

Presentty, lndia has 

- 

states and 

- 

Union Territories'

r{F6 166.(rT) uF.' 167.(e) r{16, 168.(E)

rIFn 16e.(t) i[l UF6'170. (e)

Ell

W
E

'nfiffi f#s us +fi dgr FE'friq.€ S *fFH ffi61 €r"dd t" I

"ffiz4rqq Qfi ue sftiE A, fiTH B fefuu'-ffit' d F<r fdr eE.'funr der t t "

E

Qu174i
i

rIH6174.

,

Qu175.



Y

e#*ffin?ftrf W6e7
Eb ei: so ffi td-oz-2ote

#a *Ts 35 e Ffr grd

Urd 171. (t) Nouns ur6 172 (u) 550

lfro. 173. (E) Longitude lines (fimirs A{-€t)

t:rF5 L74 (u> 1760 ldF6 L75,29,O7

"iYq' + €q gq Fdr€,sBE<rE Es€" I

..ffizrR.tEr q-& ue 3-ftigT t, firH B f€fu)r,rffi)a1r d Fs fdr g{'funf' f,s t t "

. How many Poles does a magnet have ?

UF6l26. drd e f.*d r-ee ii? uat

(g) 2 (w) 4 (E) 3 (r) s

. When did Alexander attack lndia?

qn6t77, fm*s{ B grys Q3 orr a} *st
(B) gzz e.c. 04{) 336 B.C. (E) 326 B.C' (H) 426 B'C'

Q178. Change the gender of the word 'He-goat"

. Who won the ICC Cricket World Cup'2019?

r{F6l79. rcc fraa fu€ dr,r-zotg fdH B ffitst2{r?

(Bl gril3' (lndia) 141; x'psS'finrr (Australia)

(E) ffdrB" (England) (x) fa=€d#a (New Zealand)

Q180. What is the fullform of M'Sc'?

(alMasters of Science (b) Masters in Science

(c)Master of Science (d)Master in Science



e# * ribdf-*,e W6e?
aIe zi: 37 ffi r7-07-2ots

UF6.181. tfr6rIr fq S FErar6t ffiffi
, Where is the Khalsa panth Founded?

(e) fl tr*sre rfralsri Muktsar sahib)
(rr) fr rr*.e' E Fdg (Sri Nankana Sahib)
(e) fr uea E fus (Sri patna Sahib)
(E) f )r@Js Efos (SriAnandpur Sahib)

tIF.t182. 00 + 900 e fffir-s Ea dE d * fror rrer A?
. What do you callan angle between 00 and 900?

F) xrr de (nignt angre) ()2r) ,,rfofi *a loutuse angre)
(e) f6g6 ia lectue angte) (r) ffi*r *a lnerex angte)

rdrd'183. fr W ?rr6d +€ # B rrrnre' €tefun+ f{E d fa._q-ffi *yt
(e) s'S n ts' (rar) g.* 6luE #
(s) sr* Htrera' (r) rirs i?{'6 #

uxd'184. G*n€ag f+s ffie afrSlrr B'-#' ..Hs ycfirt+ firdx{r'
ua?

. When you delete a file,it moves to Computer's_.
(B) fUV Documents (rer) My computer
(u) Recycle Bin (r) My Network

UF6' 185. $o rre firg s dd rel-se r# iis',tr g- foo'
se tr

( xruse HEe / firsqrE rre)
amt=I

Era ?iro 36 t Fdr ess
YErd, L76,
LIE6'178.

uFd',180.

(B) z

She-goat

r:[F6 177 (e) 326 B.C.

t;fn?t 179 (s) fffid (Engtand)

(C) Master of science

"€t + fr gH 6dr€,EBE<ra En€" I

"h4fo4rqq' Sfr qe uftiE a, frr B fefeuru*rrr d r€t rim r+'e,,,1' f,s t I "

tu



U
#*ffi'nHq?ffi6e?

Eb ei: 38 ffi 1s-07-201e

37
rIH?r 181. (E) E lrf,eJ-d 8 foa (SriAnandpurSahib)

rIH?r 182 (e; fa=Ba *a (Rcuteangle) r{F6'183. (rar) g';f} I6flue'fr

ItH?; 184 (e) Recycle Bin rIFd 185. frgg{d HEe

"fr + +q iiq rdr€,silE<ra Etr€" 1

The bar lying at the bottom of desktop screen is called...

(g) z"*6 Er<I (Title Bar) (rrD x2a ac (status Bar)

(e) rya ara (Task Bar) (e) ra*o ac (Scroll Bar)

rIF6187. eifr lrdf6)r{t'* 6gnr"s ffi lrdB # g?d tt
F) mlr (}ar) *6 (t) +3 (E) ddr€

qfAl88. Choose the suitable preposition.

Look.........the blackboard. (on/at)

uF6'189. Itxrs s Hs + +a Em fuus'tr
Which is the world's smallest country?
(e) il6 ild;' (San Marino ) (ry) Bq"s (Nepal)

(e) *d?t ffi (vatican City) (x) rrod (ruonaco)

r{F6'190. }ffi{Dfr u*Ht 9 riE g'-drfrdr tffi *ffi............
The number is always divisible by 9 if....................
(O fF*r2fl firFrs i? (ttre number is even)

(,af) I+fiilarr zt"{ i+ (the number is odd)

(e) ffi+rp e xH' s *E 9 itl6 s-drdar i? (ttre sum of digits is divisible by 9)

(E) fira'A s vfa 9 i? (unit place number is 9)

-,e--

\z'\_* _



Y
e#*ffinwrf ffioe?

H?z zi:sg ffi l9-oz-201e

grd
Umt 186.(t) arer EE (Task Bar)i[F6' tSZ (e) +5
r{F6' 188. at tlra, 189 (s) }Ara, firA (Vatican Citv)

UFd 190.(r) Iiftrvrr' e )2ta' s *s 9 ?t'o gar ddI t? rlttre sum of digits is

divisible by 9)

"fr + fr iiq udt€,EEr<r<re Es€" I

iear I

lf the selling price of a commodity is greater than the cost

price, than You willget....
(e) o-# (toss) (Df) 6s (Profit)

(E) fu,2frfi (lnterest) (E) ?lar (Tax)

rIH?t192. EIErr 3."51efr gg fuUE,t t? Wtrictr is our nationalfruit?

(e) }'€ (Apple) (lrf) ufg(Mango) (s) *5r(Banana) (E) Iissr(Orange)

rIF6'193. Uet Hg ffiu.6'Erfrldrdrrrgts uirr:lrs ilrE e * ar<l?t ua' ?- 
(g) ${" g1 ile"g1 (r2r) get;dr (e) rartfltr}arr fHs eq
(x) grrirs rtl

What are the reasons for the increased carbon dioxide level in air?

(a) cutting of trees (b) industry (c) increase in population

(d) all of the above

r{H?r'194. 'sH S d* xEF' UU€ s rd ryse #r
(O }ie 1a.s61u1 fTF€ +e' (E) *Filtrs aitisr (x) as? a<rdr

UF6'1g5. g"t$ )rfr#e fa?{r ErE g rniq fuH Erf; a'o tr
(g) fur's (u) rarrrx (e) flrto{ (E) ard6

The lndian athlete Hima Das is related to 

- 

state.
(a) Bihar (b) Assam (c) Mizoram (d) Kerala

eE

!1, :

I,li

i:,iri

;i,
IC'
l:.:t.
i1,
iik

i$i
l{i
iT

l';i,

rii

::,
ii'
:;.
l+
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ffi
U

# * 1116€?'FtHEr A ffi 6eT

Hb i: 40 ffi 20-07-2019

6,8<1 39

{lrd ls2 (u) Yfa (ruango)
r{Fd, 191. (Df) 6E (Profit)

UH-6 tgg. (r) B{ea.s E,e. (d) allof the above UE-d 194 (}?f) fur€ e.€-'

t1r;, 195. (7}r) }afrmH ((b} Assam)

ee iE + fr ii{ Ear€,EBEirE Etr€" I

r{86',196. ffit
Who invented the electric bulb?

(t) mrr *a lthomas More) (;tm{E fi6c'*fiFd (ThomasAlva Edison)

(E) ilrfi € (James watt) (x) fira €€'' tfr + rr# (None of these)

UFo,197. s'i,=t s '€58 ffiH' fuE d fuo'fi' A'
Who is called the'Flying Sikh' of lndia?

(g) *r.iss fHirr(rvrotrinder singh) (Df) Drfrts rro fHur (Riit paulsineh )

(e)fiftrEffur(loginderSingh)(r)fi+gr+fHl{(MilkhaSingh)

Urr6198. +s{t{'S Fsfu $rre ra + uffi far B ils u'fs}'{'t

Who among the following was the first to set foot on moon?

(e)duDrrtlr,eirEr(NeilArmstrong)(rar)g'aHgHE(RakeshKumar)

(t)a6tI6rgrgF(KalpanaChawla)(E)fr5fg6Mf6(EdwinAldrin)

rIH6199. rg #g *tsr (Translate into English')

uF6,200. d{-+H uiai s ufrar ast S hlai A ea + y1 fft+rafl aa nrfi+ad'Ho
- ffiuffit

WhichisthesmallestS.digitnumberusingdifferentdigits?

(B) toooo (a) or234 (E) 1234s (E) 10234

-+!G-
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ffi 22-07-201eH?z i: aI

40

lIFo, 196. (Dr) ErrHlT fro's ,afu (Thomas elva Iaison;

t{F6' 197 (x) ruilkha Singh

r{F6 198. (g) 616 }dr€?{Feitdr (NeilArmstrong)

t:1az 199 Alwaysspeakthetruth. t:ffd 200. (H) 10234

36dt' + €q gt{ Fdr€,*rrE<rg q-€,€" t

t.i

What do sPorts teach students?
(€) uOsqra (Disciplinel

(y) atfoara"fr EE?5! (obedience)

u6'?

(ar) x* s rrqie i6r (eunctualitY)

(xl grrt*s r€ (alt of these)

qra2o2. fr W )rri,rro, ile # d rs-s ftiB qnrs tfrt
Where was Sri Guru Arian dev ii martyred?

(e) xff,IgFrd (Amritsar) (rar) ?rf{Er E, fU8 (Nankana sahib)

i=> nm (Delhi) (x) 6'to (Lahore)

UF6z03. Etfr{ga f€b tdrc+{ t ru-o d .-.......f{o'frE A?

lncomputertanguage,thegroupofprogramsiscalled
(t) orys+r2fs (Hardware) (lar) xrgelar-s (software)

(E) rifus (Processor) (H) fisadr fis' +6ft r# lnone of these)

q*s2o4. T-d3 HTs * qi f;#a rre esS l

'!fu raftrgE + u63Erlere ffi't
(€) lrda,ng.a (Dr) rrrsfu{ (e) tsqv (x) fwer

LIrr6205. srcr E<r6rrs B * ug 6,r.td i|€ # t sso ry uaE g5r€ d
Er+efrrs .. 3n{B s Esdrd frf"r'Hrfr *3rl
The lndian Govt. has released commemorative coin of Rs........... to mark

the 550th Prakash Utsav of Shri Guru Nanak dev ii.
i (B; tooo g: ()rf) 146e Er: (e) soo !r: (H) sso g:

ffiU

#*ffiFnBf ffi6s?



#*ffintftrAffi6e?
Hb zi: a2 M%-oz-2ote

r{p5 201. <x> grriq.s rr€ (attof these) :gfill", 2O2 (x) u"tg (Lahore)

r{H6' 203. (nr) x'aa?rars (Software) qEI6 204. (vrr) xrrsfcd

r{F6', 205. (}T) sso Er:

4l

uF6'206.
Puniab Agriculture University is situated in,

(B) trfzrar.o' (Patiala) (u) gfq"f"s' (Ludhiana)

(e) miqs (Jalandhar) (E) ii+dla (Chandigarh)

qH62O7. tit"E d ffi Su 'rrse'fr fefr)r{it xssdl' si'ileit;f* tt
Which take of Punjab is known as the 'Heaven of Migratory Birds'?

(e) uda Su (Harike Lake) (rrt) Urra Su (sukhna Lake)

(E) Erg|.s *s (Sambhar Lake) (H) ifiie FiilE Su (eoUind Sagar Lake)

{F6 208. rr.d aAa filq,+ S urrs iled odd tr
(Translate into English)

Urr62o9. fu nofurrrt f+i'' ffi ira * de sres * fr aro r& ffil
Which of the following countries does not share its border with

lndia ?

(B) r+krrsra, (Pakistan) (Df) +6 (China)

(e) BTrry (Nepal) (x> fiianfs (singapore)

r{F6'210. s<ro ue-qq'f x'rre lr$ t6 fu{t}rd'f;elaretar+fYi'ffi ffi
* ss+ ** s'S ?t

Which of the fotlowing units of measurement is used to measure liquids?

(e) #a6 (Litre) (rr) ft.&afrr (Kilogram) (e) )n7g (Meter) (x) am (Yard)

6'+t + fr iitr rdr€, sg€irE Esrg"

ffi



\ al. rro V ,-#iffi**tW6e?
H?z zi: a3 ffi 24-07-201s

e Fd grs
U,r6 206. (Dr) gfur2fE, (Ludhiana) tI.Fd 2O7,(g> uda Su lnarike Lake)

t:[F6, 208. We should obey the traffic rules.

Uro, 2Og. (r) fiianrs (Singapore) {Fo, 210.(g) #€le @itre)

"fr + tr ${ Itdr€, Er3ErE- 8g€"

r{H6'211. 'Swq-o'-2'B fr u++e'e fuE U'6r= a?s + gilE yfrr
From which space centre in Sri Harikota was the 'CHANDRAYAAN-2'
launched?
(g) FrlF ftrd*ro g'ors *ss (Space Apptication Space Centre)
(rr) arEr (NASA)

(e) fgagt+ xqsd U'd5rs a?s (Vikram Sarabhai Space Centre)
(r) r$r q<!a. t1se +ss (Satish Dhawan Space Centre)

ttr62t2 fu, uo, EErr, ffffg, Erg faoS 6r€ u6?
(B) Hq r-e (rrr) erg Enftr 6re

(e) ftd6 En&r ?r'ra (r) geErq 6E
t{H6213. Use suitable modal:

We......never tease animals. (should/would)

Uem2l4. 'ctrl+s' ..4<16 6S ggfsrrft flier tl
'Ctrl +s'command is used to ............. a file.

(B) Save (rtr) open (e) copy (x) Ctose

Ura 2ts. t6 firt snrt d +5Tffi e 6-r'flT{ EEe T,{ f+u fu&r
Arrange the following states in ascending order on the basis of their

area.

(e) ft"s (Punjab) (,2f) *rar (eoa)

(e) e1-rss (Guiarat) (x) iIrlTIftrr6'(Raiasthan)



Ugs EfirE
fi#3 r€ uot
UnderwhichschemearefreecyclesgiventothegirlsofGovt.schools?
(t) r'. T{effiE qor€r reftH (Dr. Hargobind Khorana scheme)

0?{) Hr* 6'i+ Fft{ (Mai Bhago scheme)

(s) e-A u-5€, i-A E-d€ g:*'){ (beti bachao beti padhao scheme)

(E) flr5-3 )fr6 FfrH (Mid-Dav Mealscheme)

:gnn62t7. dc, ile E * qe$ s f*arq ua'l
(Translate into English)

r{Fdt218. fu tn*|,Ilr fd+ ktr5'so v greis'tia ?toT A?

Which of thefollowing is not a factor of 35 ?

(B) 4 (,?r) e (E) 16 (E) 12

r{Ftl219. +sttr e rI+ t''E-s ftfe sr.{s et fttd€i r+a ?f
What is the place of lndia in the World in r€spect of area?

(t) zno (ra) aro (e) 7th (H) loth

.q.nn622o. kE dr'fta ?i 'liilrE S &fg6' fu{'n-s'a?
Which female singer is known as'Nightingale of Puniab'?

(O xt0{sr ?fi3H (Amrita Pritam) ()'?r) Efriw d< (Surinder Kaur)t 
rfu(JagmohanKaur)(e) ffifiie-d ?'=dd'r (Jaspinder Narula) (E) irdTHiI

e#*ril*dTf,ltgeffianse?
n?z zi: aa frr* zs-07-201e

UF; 211. (r) rde qgaU6'=r iE (satish Dhawan Space Centre)

wR6 2Lz. (e) fi#aa 
"rsa 

?5€

qila 214. (B) Save

{16'213. should
1{H", 215. (at,B,s,E)

"fr + fr iiu udl'g, €rreilE'Eg€" I,I
I

il

,l

43
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#*ffinBtW6eT
HTa zi: 4i ffi 26-oz-2ots

#e ?i'Ts ++l Ffr $=s
qEt6 2t6, (rr) xd s'i' E6frH (Mai Bhago scheme)

{ifr6 217, Trees and plants are ornaments of our earth.
r{H6',218. (E) 16

rlra 219. (E) 7th :gE[6 22O. (]rf) Efriss de (surinder Kaur)

"€q + <o gu Tffi-€, €BErE- gg€"

qma22t, gs Fd"flss't +dft Ht'mr,fr zi ure-a Eqr6'e.d qi'3 ffizir ? uiiua +
uRrdry f6ffi){t'}2{tin1€ f+ft iTre1 a gE d .........ko'sry tr
Help that is given to the patient or iniured at the site of incident as per rules

before the doctor arrived is ca1led.........

(O EEefr ro'fwr (MedicalAid) (rr) m+q *s (sociatservice)

(e) $eeil Iro'firs' (First Aid) (r) fua' ffi A* * F# (None of these)

:glra2z2, x6# rrft s sqHr6 HaJE €.e Eiro d * fdo'Hre'A ?

What is a human body temperature measuring device?

(g) Hefr*H&{ (Microscope) (}2f) r?Ea*q (stethoscope)

(e) *irfia (Barometer) (F) Etflln?u (Thermometer)

q8s223. iffi rrdfdvrd',26Frrs thra f#s +ra{r e'B_Bo'a ...... lrde f#s rs'flem
me tr

(e) +s (rr) dra (e) r'-Ba (r) mrr
qm224. U'fdk)r{t'fii'}rffi di :-

Find Odd One Out from the following:-

(g) rd$ (Earth) (zr) tiwr+'(Moon)
(e) &gqNeptune) (r> *arotMars)

q*622s. 6s" s rynd *'e dit
What is the Supplement Angle of 65o ?
(B) 2s" (Dr) 115" (e) 3so (H) 29s"

L
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#*ffinHryiW6zT
Eb zi: a6 ffi 27-07-201e

(e) ferofr Frd'frs' (First Aid)

(r) raH',fre (Thermometer). r1ra, 223. (E) reE
(u) tiwt+' (Moon) q.F6 225. (}rr) 115"

"€rr i eq En{ 6drrg, il3r*rE uffi"

!,.

i. r

il
!

i

I

ll,
,:

!

ur6 221.

}[,;16 222.

uFd 224.

sd rry Arubrri ira?

The fishes breathe through...

(e) algfs)2{+ (Lungs} (rtr) srr* (skin}

(e) arrekrart (Gills) (E) ffi' f$$' ** + 6-ft (None of these)

qtr6227. ffi E<,6rEI fi#s sra r{*q d rg # +A fird"S ffi tt
Which is the smaltest unit of state administration in a Democratic

Government?
(e) q1+f tiulvs (Gram Panchayat)

()2f) firqr dre (Zila Parishad)
6

I CE) furk Hir4 (Panchayat samiti)

I fx) feq"rrr{r*(Legislative Assemblv}
I

lqrazzs. Ffu f*g )r,r"fie€e,t6 d d,fr te a'ea fuol*'+dr i stgr ]7
Which disease is caused by the deficiency of todine?

(e) Trtrs"s' (Night Btindness) ()?f) ffi-ed (Berry-Berry)

(e) Hffi+ (Scurvy) (H) fdrdq (Goiter)

Qu 229. Fullform of ISRO is.......

(B) tnOian Scientific Research Organization

(nr) lndian Space Research Organization

(g) lnternational Space Research Organization

(x) lnternational Scientific Research Organization

30. ri;Tq# sr fris EEs e fiiE'r fux ry us sdts)2r'r'.e'tt
(e) i"-A 6fr (Dr) #e 6S (E) urfr 6A (E) Erd-Ei3 d

6.

Eflz ?irs 4s t lrfr frs



r{H.6 226,(e)
t{rd 228. (H)

ttil6 229, (W>

{16, 230.(}rf)

H1z zi: +r ffi 2e-07-201e

46

arerekra,r'(Gills) qtra 227,(e)aPr tiu'fss (Gram Panchayat)

ffitrg (Goiter)

lndian Space Research Organization

#Eus

"ft + tr iiq udr€, s3KlE Yg€"

a#d
-"*_e" u6rgi ile 5.{enars + fufE fda ffi e *'E wr€? uer

The vertex of set square in geometry box represents the angle of

45o,99o,45o.The vertex of 2nd set square represent the degrees of angle....

(€) go on3o o,12oo (Df) 30 orgo or5o o

(E) 30 o,9o o,60 o (H) 30 oo5o', 100 o

qrp6232. gq frid ,fu<zl ira t I (Translate into English)

,!*za:. Ue +.if* E'ffi u'i;e-E? ela iie ua, ffi d * k'n"€'t ?

At the tower surface of the leaves of the plant there are small pores. What

are theY called ?

(e) Fafue'(stomata) (rrr) a'#rr'(veins)
(E) &fif6' (lamina) (x) ffi ff}' A'6fr A F# (None of these)

2234. fiG ? Ufq-dfr ii}{r d f61t.c'-eE eifi Trg + gs }?ffir{'-fr *z iis tt
Who is the highest authority to perform the administrative functions of district?

(g) f5tra aflmre(oeputy commissioner) (rtr) sffiow (Tehesildar)

(e) fitrq;r fiififl?{' DfcrFtir(District Education officer} (n) filr.*.fr{. (sDM)

WH623s. td firt Liq l+3-tr'fi$'ft.E fq li3-fr gT ariIflErr6 Fs + ais'finu' tt
Which of the following Chief Ministers served for the longest tenure?

(e) *-ry; qlTE (Sri Lalu Prasad)

(at) zfi--^t fr+S ry Cfl*..Jvoti Basu)

(e) 6 al+E a,rEI (Sri Kamal Nath)

(H) H:rlarrn fiiur ggtr<s". Parkash Singh Badal)



a'r*t t
Qu 236. Full form of C.P'U.

(t) Central plate unit (rr{) Control Processing Unit'

(e) Central Processing U.nit. (r) Control Plate Unit'

qra 237...€O qt'fde urd6€'6 ut6 q.se u6" d 6fr fd.ot aigr }1

(tl gtrrE (u) fq (E) Y2'rqrfl (H) flis

r4tr6 Z3g. *.fr.#. er adr far +dr # rgtnf u* Fdftflg}r frtE'A?

Qu 238 The BCG vaccine is vaccinated to prevent which disease?

fQi nf&or (Pneumonia) (D{) fl.fr. (Tuberculosis)

(e) 26665 (Typhoid) (r) rrBfiarr (Malaria)

r{rd 23g. Erros $grgt6 i ufr t t (Translate into English)

r{ffi ?/+0. q-E-fi it}r'f i f*et er +5 uRH' dfr g-frr + ...dfi t t

Qu 240. The sum of any two sides of a triangle is always .........than the

third side.

(e) t g(rffiI (Equal to) (ntl al.& i7r (Smaller Than)

(E) 6.& ta' (Creater Than) (x) ffi ffi' ffi afi (Uone of these)

Y

Hf *?ffi'nlftrf ffiun6z?'
Hbzf:4s ffi30-07-20L

8z:- g?d )?rdre fs6 fr frz fds afr ilEa, w Ed fu,{.dfr ares ae r

frz ?irs 47 t Trfi grd
1tF6 231. (E,) 30o,90o,60o l{,ffi 232. Milk is a perfect diet.

{f6 233. (g) H}nZr (Stomata}

Uffi 234. (g) BrrA afi+rrgtDeputy commissioner]

g16 235. @) fr rfi+ w5: (shri JYoti Basu}

"ff + fr dr tr-dr€, gilEdE Eg€"



#*ffin,{B}W6e?
H?z zi: 4e ffi ot-og-2olg

Ffre ?irs 48 e Frfr gso
t{H?t 236. (g) Central Processing Unit

r{m5 237, (e) rrftfe . tdf,[d 238. (rf) A.*. (Tuberculosis]

r{ml 23g.lt is drizzling out side. tlf,rd 240. (e) a,tB' +Br (Greater

Than)

"ff + tr iiu u'drg, g3r*IE Yg€"

Qz+t fnr fffi
fdir iTte" t lrne triangle whose att sides are equat is called ......triangle.
(B) m+gq1 (Equitaterat) 0?,f) fB{,{ gifi is.rtene)
(e) H,{-t gfr (isoscetes) (rl er6* (Right angted )
Q 242. Translate into English

idft fras 6S dm,=r aira rgfr tl
Q243. EFI{ ErFdu + qr$ + ffi Hifu B rax furarZwhich martyr
was born in Sunam city of Punjab ?

(t) rors ffur (Bhagat Singh) 141; gr*& (Sukhdev)

(s) gqt{ fifr{ (udham Singh) (H) W (Rajeuru)

Q244. " _T ql,. fif,B u'e ufi O yrrs' fu$rt E S fildg'dil€r Hre
ssts)?ft tEr A?
(t) rra
(8) UilFs

()d) g'rg Ugfu.hft gr ruj.
=

(x) rgg-H,E omrr

Q,245. 0o uramrtr d .......d f{or #gr } I

Oo tatitude is also calted 3s..........

fB) Aea firn firopic of cancer) (vrr) rm |tp (rropic of Capricorn)

(E) g-)iq firn (rquator) (H) fwdr f€' is * ffitr (None of these)

dmEr

tu



#a zi: so fir# oz-08-201e

Q z4o.ftraE' ffi{?t 5 t ifitr€ f€b riw qce t? wtrictr vitamin helps in btood clotting ?
(O) vitamin o (rar) vitamin K (a) vitamin A (F) vitamin E

247. ffi trfi+rrE+ s frea friil fr E Er Ersdfs t? ffi' d * f6o' sigr !il^rhat are
the numbers that have only one common factor?

(B) Drg.fr rmf)r{rer (prime numbers)(Dr) fars }m{hfer (Even numbers)
(s) a4 tm{t {trt (odd numbers) (r) xfo-rorg'fr }tEf}rrcr (co-prime numbers)

a Uro, 248. so*s rrfr aoa ul# gyd fuf,s H} Ffr gff de?

friss

,ar

(e) (lrf) (8) (E)

Q-249. Fill the suitabte Modal:-
............1come in, Sir? (can/may)

25o. t+ i?t, EtS ur3 ge* t ffi alFdrfq 3,rr re 3i Efr Fqirer tt wtrat
happens when moon comes in central orbit of sun and Earth?

fBl (Moon ectipse) ri,r affrre frrrl Gides) irsBErs
(u) (Sun eclipse) Eler alfuc (F) (Votcano ) reror #*

v P- 7Io

-@_ @ 6-

, =rg
am,=I

fre ?ird 4e e Er# gfd
rIH?t 241. (e) E)tgS (Equitaterat)

{lrzs 242, Exercise is important for good heatth.
qill6 243, (e) $q}r fHrquAnam Singh)

v/ild, 244 (e) gErrs'.
qill6 245. (s) g-ri,q irr (Equator)

"ff+frdt6ar€, il3rgdE EErrg"

eEqE
Y

+# + lrfiE# ilfl=r t fefezrry*ad,ei*



x?e d: 51 fir* os-08-2019

tz:- E?e }?rdrB fe.6 fr fra fcg afr ild.fr, r€ da ffi ax3-s a.E r

frz drs so a TId g3d

qEi' 246. (>rt) vitamin r
:qE6 247.(x) rfu-rtrsrfr lifin2f-€r (co-Prime numbers)

.6
BSTE'

Y

a# i')#6€t TTH.g t frfenrsftrr u*

1116 250. (s) Eilf, atfuE dare' i I

" H66s' ut3 ra-or+ fffi fcg aU + ffi 6ff 0t"
E-{5 trn{nrt fu-dr,rifrta

{r5 248.(t)
r{Fd 249. maY

ffi ltg er zdarg fdur tt-g i?wtroiscalted'Tigerof Mysor'?

(e) t6,o{d 0?r) AU E6grd (s) Erso (TT) HE Urirrs

e 252. ia fCi Hg-gr fd+' €',{Ei-rrr.fr rtrra ri t tdentify the retation between words and

0+r) a2fr

*:

,h

(E) du (H) a6r

e255. a<-a ttn tr3 xas itr t ffi tsd E'at fair iTrs'a?whatisthearea

lying in between tropic of cancer and tropic of capricorn is called?

(O €u-grc {a Femperate zone) (Dr) fr3 tis (rrieiu Zone)

.(E) €EF,.nnf ris (HotZone) (E) ** + 6tr(Noneof Theserl, 
::+i:irr r:; : iiiii,r:r{:

iq1'' '':::'-'i'''l' ' 1: -:: :hli' :it{:r"jr '' i;,''S"l 
:f"' g

ilsr a?
tBl Aroq

fill in the blank with most

Q) saa (rr) Gre iffi,'ftil" (E) Plav



fir* os-08-2ots
qaa 256. t6fufi{rrrrffi gri a? wr,i.tr nnir"r"t tiiEG'
distinguished from earth?

(B)unr (rrr)ffi (E) iiad )iv (H) u*
e2s7.t6 fC+ HTei f+# F
the blank with most appropriate

gtl tdentifythe relation between words and fiil in

TEACHER:SCHOOL::

(O) House ()?[) (E) Restaurant
tIFd 258. Transtate into Engtis ffi = re*',_. *#*=;.[W.s#+n"d'|u*'-TffiuEe& *, 

_.ffi,
uFd 259' ffdr ffi''|ita n'+g ref rra iI+ uoT How many rffi"r" there in a kirometer?

(B) roo (rr) rooo (s) loooo r#"ro
rE ^z^ 

-.o,- 
-lL 

- 

A au . ffi#*-LIF.' 260. rn4E af aar Ed t?s f#f,s fd# mfi ffiTerqmr f#re

(e) (u) (8) (H)

uH6 251.
qE[6 254.

(Dr) Ag Er6T?l
(E) dr{

fe ?ird 5t + Eift $v{
qE6 252, (€) sao uFd-253. (rar) ctrl+p

rIFJe' 255. (s) grdr sRr tir (Hot Zone)

" E€6s' raf} aro.rr ffi ffin 6rd S f*ra 6fi dA,,
r=d6f#nf)?{'fug'ar,rfgg

frz i*z sz

fu-EU
a# +,rfd# mrE t fEfezrufatr,us

tn +U

-

ares ffir-



*eT+)rf,d#irrn=reffiuS
ufra zi: 53 firS 06-08_ 2otg

Ffre ?ius sz t mfr grd
Wrdr 2s6. (,rr) Erffi--s (Dinosaur) tIH?r, 2s7. (e) nospitat
t:tFd 258. which newspaper do you read daily? {m; 2sg, (u) 10oor{E?; 260. (g)

.. 
U.€t g-grg, g'ffi g-9,16 ,,

FgM fffir)rr' fu-dr, ri-fi'lt

Which is the smaltest bone in human body?
(g) € (Nails) ('}2r) ffi6' (Fibutai (s) 5.d fi ii# (Bone of nose)
(H) HAl-f, *6 fr ii# (stapes,ear bone)

Q262' How........ days are there in a week? (many/ much)
q263..il rgrs, fr fuE?5., t ftfrrretro' g' ?5rry-,, fu,T B ffrra

Who gave the slogn , jai jawan, iai kisan, jai vigyan,?
(e) f, ryar, ffi sfl{A (Shri Atat Bihari Vajpayee)
0?r) B'. }t.dltdd fftrr (Dr. Manmohan Singh)
1e) t @ aFfr (shri Rajiv Gandhi)
(H) fiH* fud'arr'fr (smt. rndira Gandhi)

q261. rt6n# r+d

q 264 . IlteE giil=r B )2far3 grg-fi5r d ....... tr fq-6, e qdflrd
ErBirr ild€sr = "

(t) aq (rr) ta* (s) +.i,rfr
q 265. What is the full form NMMS ? NMMS gr URrr A # r

(t) wational Means cum Merit Scholarship.
(trf) Nationat Means cum Merit State.
(A) National Merit cum Means Scheme.
(E) National Maths. Merit Scholarship.

(H) dB

amr=r

r€'



eY 5TE
e€i* *' ,rf6# tH,=r

frzzf: sn
t ft'futrrydut ov?

ffi o7-os-201s

Ans 261. 9)1},m, dn * d# (stapes,EarBone! Ans 262.many
Ans263. (e) fl rrau ffi Erflrr* (ShriAtatBiharivajpayee)
Ans 264.(E) €trUfr Ans 265. (t) tuationat Means cum Merit schotarship

, :rg
#a ifrs s3 e rf $rs

" u.r1 E-s'C, EftH E-s€ "
EE6 ffflrrlrr f,Etrar, rfr"a

{Fi' 266. sler i t
(Ol r*. r* ()rf) u66,Edt-hiqs (e) flre (F) ds,aftrd

q zez. f;s6riT r-d. qir cat t flranstate into Engtish)

{16 268. Eil6 }rnrE e't dsv d Eft kdr fier A?
What is the name of the deyke used to measure eert$quakcs ?

tBl eor'!fred(Thermometer) frrrl }}#as te.ro;.;O
(e) ioanfre (Vottmeter) (r) frr*Fafe iseismograptr;

r{H?r 269. rr*u s r}Frr Hs Errod u't }?r3 aJ gd, *i t. rns Hszt Et rv'?r A, df rrrs fds do fdd frftu6g1 *,
rf Jasdeep is on 2r't ptace in both asending and decending order of merit in a

class, calculate the total number of students of class.
(O +o (w) 4r (z) qz (H) 3e

{Fii 270. fiyE sr+s Hu ff{ cirdr o?r?
How many Square are there in this picture?

(t) r+ (ry) rs (s) 18 (r) ro
I

EUFEJ



e#*ffintftrtW6e?
Hb zi: ss ffi og-os-201s

, =rg

Ans 266, (E) fs )2fi[s
Ans 268. (r) fu*op (Seismograph)

Ans 270. (r) r0

Ans 267.
Ans 269. (ur) 41

" ffi Eg€, gH{ Eg€ "
F={6 fiiftrr}r' futrar, th"s

Q 2lr ttdfr FSd s mr + fa' hfdr filrs' A?
which is the largest organ of human body?

(e) felrdr (Brain) (r2{) fu (Heart) (8) s}t.* (Skin) (a) frars (uver)

ezz2.iare.s a,ilfu,2r1'fHb lrotrrdrs/ rs fii# d ffi iiar a'u sfirfrDflr #er
ilz=s

By which colour ocean/ water bodies are represented on the colourful maps?
(B) ury'(Red) (rar) atu elue (E) HeE (White) (x) uo (Green)

e.273. fflTT Er6r f#u r,6o LiFs)rr fdr)rr. i?, gE eq 3 )2b ffi kds'f€rrd+r
ftiO u'dr'fulrr'fiEr a?

(e) EfS ()4r) ffird ftiO (E) #r' 1r; qm fti6
e,274. sr<rEr m66r Ss 6rdfgdr d ilfr *3, re uqu 6rrir=r 3 fdA. uH s
?iT d iigt A ? How many digits are there on a AADHAR Card issued by Govt of
lndia to the citizens ?

(B) to (u) t2 (s) 6 (H) 14
q27s.+{s ffi flis E gn u-Srs +E'' tEz areE}c nrl rcn u.SFs +E'
.-r@c i+, si dE fd t6 fi3 fu'fd# kdrs'-ftiTo flis e,jTrz drffie
Dr}-attgr}ct S ffi d +{ *r zsu eirm fus'?? wt ict figure given f,eu*
is correctly depicting graduates and postgraduates of the village where 9% of the
population is postgraduate andt6% is graduate?ffi*#{}

(9, ()4r)-' (E) (TT)

Ete ?iEU 54 e Ed gss

+J.t
U

EGr.F-j



e#*ffiFr)rerlW6e?
ETz zi:'i6 ffi og-os-2ote

ffi'm*nef,edf{o'sigr}r
How many carat of gold is called 'pure gold'?
(g) 24 afr.e fr6' (24 carat eold) (u) 23 afu izr' (za carat sold)

(s) 20 afu fr6' (20 carat eold) (H) 22 afu fr6' (22 carat eold)

e 277.'sE rflaq' fdr HFro f#s tt
!n which city the 'Charminar ' is located?
(g) iltrd(Jaipur) (ra) toou'e(Hydrabad)

(E) Lre6r(patna) (H) e66(Chennai)

e 278. srd=r fis ES drr} e' rrfoo' iltrtfra 4E ?rf3 trB 6dr'fen{'

frrt2{r?

When and where was the first cotton textile mill established in lndia ?
(B) rs:4 fr., Us'A (Dr) 1853 fr., dffi
(s) 1854 fr., fu,{Is (H) 188s S., sElfr
ezts. tno ffi ia gm f+s rEA $ zost f6fin2f' #€r A - gi e=r

ilg' fi3r coFFEE d fdr rfl fuftfl2f' p]6pr ln certain code language

if TEA is written as 205tthen how will coFFEE be written in the same

code language?
(B) :ossoo ()d) 31665s (E) 3rss66 (H) 31s66ss

e 280.laf.Irt Fis Ertrd 6S flfa e 8a EirErd d * f{u' tier A I

(B) ars' ()r) i6 (e) d+dr (u) ffi
AE3=T

fu ?ird 55 e Irfr gre
Ans 271. (e) srr* skin

Ans273. (r) t1mt ffi
Ans 275. (r)

Ans 272. (ra) d6t Blue

Ans 274. (w) LZ

" Save the Nature & Save Your Life "

F={E fiifi+rr k-dt, riHE i

tu
U

[p,- I

twl



ffivs, \;U

q 281. rd+ t
TBitHrS :,:"lrfnislt is there on which part or the earth ?fBl ffi T_il€ (hr) UrEl 

"*(E) ffi h,B elrtt T-il€ (H) g_)iq ild,.
q 282. smil +t2f f*#hrr *rffi trftr ddu' uaa
How many symmetricat lines does . ,Orri" have?(tr o @t) z -i=l , @) 4
1283. Tils,{r6. n} erqi+ silE{r' t f6 trd ,nrs E?r?

::]:'.* - = 
(h{) s2- - ( v) za @) qt

q284. ffi{r t uin w ei-ffi w H.r€ d ilfu}r{r'# a,
Ht't*t*#5[1o.-n as the v:orng"rrLrru or sikhs?
!e? w 1u 

q". fi C;* *i*1[,]#|;
(b+) ry *a ry fi Guru Teg Bahadurl. "_,J Jv, ,u,Es r1t uuru leg,Bahadurji

!=l W )?,rilfr; t-€ Ht Guru Arjan Dev ji
f]-_qsjfrr # c1ru Gobind singhji

28s' fff,o ugr ao?t 6,* urci-ft#rffi'il* fr #e xir pick oute correct 
'p}]ut of the given 4 arternatives to comprete the figure.

(e) (br) (E) (H)

F W w v



U

e#+ffi'ntglW6s?
ETz ei: is ffi 14-og-2ots

f;z:- gTd )rfiIB fe?t S ffiz fr aA FdA, =s +q fs,{-dft alres d+r

#e ?irs sz e Ffr gso
(e) $rfr )r3 d{e1-q-il€ North &
(E) 4
(n) 41

(O qtg ue ffi # curu HarKrishan j
(r)

Ans 281.
Ans 282.
Ans 283.

Ans 284.

Ans 285.

uth Pole

Q 286.'B+drr' frTT * g u'r-fr $B' tt
The'Tiranga' (Tricolour) is the National Flag of which country?
(g) fr E* sri Lanka 0ar) srcr tndia (e) d6 china trl ,rnrda' America

q 287. srg=r e u.rrefr EB fdu rg * €trd ftrd*' iiar tt
Which colour is on the top of our nationalflag of india?

(t) ftie (White) (ror) frs' (Btue)
(e) ud'(Green) (nl ffi (Saffron)

e 288. )rrfi.S * ufocfr Fs'S q+ E# ar$ f
When did the first war of independence take place?
(e) 1e1e (ry) Lst4 (s) LBIT (H) 1e3e

q 289. ErE=r t o';refr aflg s etrd da uar
Who is the author of the National Song of lndia?

(B) Sfr. Rabindranath Tagore 0?f) Sh.Vallabhbhai Patel

(E) Sh. Bankim Chandra Chatterjee (H) Sh.subhash Chandra Bose

Q 290. 6rir€'fo€E s &ft EH'+o fdB )rrtifFrs ds' sisr ]r
Where the national programof lndependence Day celebrated is held?
(g) tr*nf' fra (lnaia Gate) (zr) urs' fdq' (Red Fort)
(e) f,ro-fro (Jantar Mantar) (a) snnar$ s<6 (Rashtrapati Bhawan)

'aEi iffi €vn EI3-EE m,Efrr{fg*



a# + )2f,d# rHB
#a zi: ss

tffidr$
ffi 17-08-2olg

e 291. far gco ugirE[ f, 'seo ittr' f{or eier a ?

Which liquid matter is called 'liquid gold'?
(e) lrg u is' (Mustard oil)
(e) t{'Et (Water)

(rr) H;dzn+ (Petrol,eum)

(r) fiifr e' is (Kerosene oil)

Qzsz. t6 f#it sr+s f+s (?) + q'3 lir€T fft*rat'sBt
Fill up a suitable number in place of (?) in the figure given below.

(w) 2e (E) 78 (n) +s

q2e3.Q!s ?rrra +€ # B f+ditnrt ffixrr (qrcffi q.rde') at$l2{r?
How many 'Udasis' (religious journeys) did Guru Nank Dev Ji carry out?
(B) ury Four Oar) ti6 Three

Q 294. Translate into English:

(e) E srx (n) ufo Eight

rr#r 6'o ilr' e' foram etrer At

e2ss. +dE 30 rfla d* d# ffi 2-2lfla t rsrye dil} da fr'B
u6',iff grt +fr d ffit E e *ifrr
lf 2-2 metre long equal pieces are to be cut out of 3O-metre long rope. How
many times will you cut the rope?
(t) ts ffi(yt) 30 e'u (s) 14 €'ril (H) 29 €rd

(B) tg

dmt=t

Ans 286. (rrr)
Ans 288. (e)
Ans 290. (u)

Efte #Ts s8 t Eifi gfd
Err€=r lndia Ans 287. (rar) ArA (saffron)

1857 Ans 289. (g) Sh. Bankim Chandra Chatteriee
6TU fuq' (Red Fort)

" Save the Nature & Save your Life "
Irgs fiififYlf' fu-dl, tiH"E

tu
U

l-k-l
@_l



e# + )2f,F#HHB
#a ri: 60

Effidr*
ffi 19-0g-2019

6tltir=r
l#e ?iro 5e e Ffr Sfs

Ans 291. (rr) H6nn+ Petroteum Ans- 2g2. (e) 78
Ans 293. (g) uril Four

Ans294. Reading improves the knowledge of language.

Ans 295. (s) 14 EriI

" Save the Nature & Save your Life "
lr=dr6 ftifwrn furar, fiTra

e2e6. W fiftiu fr+ur # gar.o 'qr65:sr fq' * Hrrirr dr+ at* ar$t
When was 'Khalsa Panth'founded by Guru Gobind Singh Ji?
(g) 16e3 S (r"r) r6e2 E (E) 1700fr (H) 16ee fr
e,zsl. *'6a.s'f{H ar$ e ffi 3 rrfos tt
Kolkata is situated on the bank of which river?
(O) sE atar' ()2r) Irorrfi (e) ffi fr> gdd t

e ze8. +Hlr s afl= fdr iiu e ffsr2rl' 3 rrre tt siu, worm grows on

the leaves of which tree?
(e) and ()0{) }rf,E (E) Hffi-rs (H) ffrs
q2ee. Uro, fi#re ffi (?) ar* €=f,d f+sr fi# Ffr gfd aill
Find the correct answer for (?) in the question figure from the answer
figure.

gro fiffi Question figure gre ffiso Answer figuie

(e) ()"f) (E) (H)
q 3oo. t6 f+fr l2fd ilffi d Uo dir6 6S fag FErro, si:- Fitt suitabte
place to complete the sequence of numbers given below.
3,5,8, 13,20,31,. .....,.... ..,
(Q) ++,st (w) 44,61 (a) 43,s8 (H) 40,s3

q fi h ?
Fr\lh. p Jil ffi

tu



Ans 296. (r) 1699 *
Ans 298. (s) Hfrgg
Ans 300. (taf) U,6l

Y

e#*?ffinryrtffi6eT
E\z zi: 61 ffi 2o-og-2org'

fl"?$Td 60 tmfrgrd
Ans 297. (r) Eord
Ans 299. (H)

'tfrF air6 E ftE)?{i S o}H" fifJ $# t t 
,,

HEm f#ftrt?rr frsrdr, rIilE

e 301. m+t g a.m.ffi a.m.T * gE t? wtrat is meant by a.m. in
a.m.?
(t) ntter Meridiem (nr) Anti Meridiem

(e) Amplitude Modulation (H) After Mid

q302. Ba re'6 fifi aE e q:$t?ti i,iftfr ffitti')2t} aed ae$rrr o?tl

(e) Tiq ()4{) frise (s) Esrg (x) Szt'
e 303. a6 fC} HEei ftE Erci qt# EErd gt I tdentify the relation between

words and fill in the blank with most appropriate word.

(B) rnu
BIG:LARGE:: LITTLE: .........

(TT) qUICT (8) SMALL (H) NONE OF THESE

q304. rh'E e f{E fits d 'u'* + lrdr&' # tft}rrr stgr }1
Which village of Punjab is known as the 'Hockey Nurse4/?
(O) *esqJ-d ()ar) Tt&s (E) ItHqId (H) frt€'6

e 3os. q'6 rtrd' f€t4u ffi ffi*r?rt E€? Fill in the missing digit?

(rr) ts (r) 14

* gE t? wtrat is meant by a.m. in time 8

3
(s) 18

ta:- €?d )rrdrB fe?r * fra ftg afr rEa, se +{ f€}r.dfr aros air



e+*ffi'nBtffi6s?
E?z zi: 62 ffi 2t-og-2019

#e ?irs 61 t Ffr grs
Ans 301. (u) Anti Meridiem

Ans 303. (e) SMALL

Ans 305. (g) 12

Ans 302. (rr) f*s€
Ans 304. (e) lix'eUe <r>

"ffis Erir6 Erfu,2ft + ulr fifJ ii* tt "
FqI-dt trfifltfr futrat, fTT's

=

egos. .+a" Fd€ A fuE ufdr 3 )f6ignafril qfofort'rre Ery arfuE'

t? On which part of the body is the ornament "Kaintha" worn by the males?

(B) aro fds (Dr) gdrdr f+u (s) u.d f+u (H) ti,Tr*/}fr Sr-d

e307. sre=r mrcrir #',H S Enifi+rr Er* kfrs'toucr*o #Ts
fifg' fdrtaft tl wtrich helpline number has been given by Govt. of India

for security of women?
(B) rogs (?4f) roo (e) 181 (H) 108

q308. srr e ffi trr;T F q2s6 s gsl]'sd Fs + d,q tf
Which state of lndia has maximum production of iute?

1By rrmr 141; rrafr lfidr"o (el Bfrr' (n) Hq UeH

e 3oe. srir=r f+s fddt gr1'd E 6-drfod d k u'g€ e' urfuor.s {arg
?t nt which ate a citizen get the right to cast his vote in lndia?

(B) tz xm ()?r) 18 Hr6 e) 21 Hr6 (r) 0o x's
e31o.ed fufindt'd +d reSE t a T{a qH fds fErtfe iB g'o

ffi gH f€# *{ rf,+s ErF ry gBt Find the the correct

sequence out of the four possible answers by arrangint the following in

the ascending order.

(al frq (bl elr (c) flb (d) uE
(B) a,b,c,d (rt) c,a,d,b, (E) d,c,b,a (H) b,d,c,a

te:- grd DrdrB fe?t S ffiz f#u afr fr"eil, se Sa ffi arEs ael

tu
U



e#*ffifigtW6s?
Ebd: fi ? ffi 22-og-2olg

ta:- EtB )rfirB fs6 * fra f€e aa n-64, 3s +{ fe,{-dft ares aer
#e ?irs 62 I Ffr ff,d

Ans 306. (g) anr ffis Ans 307. (e) 100
Ans 308. (rar) rftr+ farqr Ans 309. (raf) lg rT'rdt

Ans 310. (taf) c,ad,b,

"ffi6 artr e'fena{iS u}H'f#s dS tt,,
Fg6 fiiftrlrn fu.dI, rifi'g

Q 312. The young ones of 'Sheep' is called.
(B) rio (rrr) Kitten (E) Lamb (H) catf

e313. 3.6 f+ftDft 3:F$gi.€r'E srdr'ti iE * reeltar ar*,2fi,iri'r
ffi'f€# fdr s rrfui+nr Fs + uFe tt

% fu ffi n-rjrr
(g) ()2r) (E) (H)

q314. fxrs * rg + dq sru fde ilg iis tt

e311. r{grfr F+d d gl.rd f#u ktrs'fu iis tt
(e) frir frd 149 rko i= (E) a" d* t5 <r> iffi i=

(g) fr dd' ()?{) frd (E) gtrrd (n) ros
q 313. E=r6r grt' +s6 s'6dr e &r€ 6* a6 fuft+rr f€} fudr' ftf6
tr



 

 " A Library without Books is a like Tree  without Birds” 
skUl is`iKAw ivBwg, pMjwb 

   aufwx      
CyvIN qoN A`TvIN jmwq dy ividAwrQIAW leI 

SIt nM: 64                 imqI 23-08-2019 

 

Q 316. pMjwbI XUnIvristI ik`Qy siQq hY? Where is Punjabi University situated? 

 
 
 
(a) pitAwlw  (A) cMfIgV  (e) luiDAwxw  (s) jlMDr 
Q 317. kwpr slPyt dw sDwrn nwm kI hY ? 

What is the common name of CuSO4 

(a) PtkVI         (A) nIlw QoQw        (e) suhwgw        (s) im``Tw sofw 
Q 318. ijnHW SbdW duAwrw KuSI, gmI, hYrwnI, fr, pRSMsw Awid dy Bwv pRgt hox , 
ivAwkrn iv`c auhnW nUM kI ikhw jWdw hY?  

(a) ivSySx         (A) ivsmk          (e) ikirAw         (s) Xojk 

Q 319. qrqIb shI krn leI au~`qr ic`qr iv`coN shI au`qr l`Bo? Find the 

suitable picture from anwer pictures to complete the following sequence.  
          pRSn ic`qr       (au~qr ic`qr)     

        
                                        (a)   (A)   (e)    (s)  
   
Q 320. To open a new document press _____ keys on the keyboard. 

(a) Ctrl+O  (A) Ctrl+S  (e)  Ctrl+N  (s)  Ctrl+M 

 
not:- au~qr Agly idn dI SIt iv`c Byjy jwxgy, qd q`k idmwgI ksrq kro[ 

SIt nMbr 63 dy shI aùqr 
Ans 311. (a) ihMj joV        Ans 312. (e) Lamb 

Ans 313.  (e)       Ans 314. (A) cIn        Ans 315. (a) 
  

 



 

 " A Library without Books is a like Tree  without Birds” 
skUl is`iKAw ivBwg, pMjwb 

   aufwx      
CyvIN qoN A`TvIN jmwq dy ividAwrQIAW leI 

SIt nM: 65                 imqI 26-08-2019 

Q 321. bu`D gRih sUrj duAwly AwpxI pirkrmw ikMnHy idn iv`c pUrI krdw hY ? 
In how many days Mercury completes  one orbit around Sun? 
 (a) 366 idn (A) 28 idn  (e) 88 idn  (s) 24 idn 
Q 322. He has a knife. 

What part of a speech is the above underline word ? 

 (a) noun         (A) pronoun        (e) adjective        (s) adverb  
Q 323. du`D dy lYktobysIls bYktrIAl KmIrIkrn duAwrw kI pYdw huMdw hY? 

What is produced by the lactobacillus bacterial fermentation of milk? 

(a) pnIr     (A) dhIN             (e) m`Kx     (s) Awies krIm 
Q 324. pulwV iv`c jwx vwlI pihlI BwrqI mihlw pulwV XwqrI mihlw kOx 
sn? 
Who was the first Indian Woman Astronaut to travel  in Space? 

(a) Swvnw pWifAw   (A) vriqkw joSI   
(e) sunIqw ivlIAmz   (s) klpnw cwvlw 
Q 325. ic`qr nUM smJ ky rMgdwr Bwg dI iBMn ilKo? Write the correct 

fraction of colored portion of the following picture. 
(a) 8/3 (A) 3/8  (e) 3/11  (s) 3/5         
 

 
 

not:- au~qr Agly idn dI SIt iv`c Byjy jwxgy, qd q`k idmwgI ksrq kro[ 

SIt nMbr 64 dy shI aùqr 
Ans 316. (a) pitAwlw   Ans 317. (A) nIlw QoQw         
Ans 318.  (A) ivsmk       Ans 319. (a)         Ans 320. (e)  Ctrl+N 
  

 



Y

e€? * rffi f,?ftr t frfeurcdan wT
a?z d: 66 ffi zz-os-zotg

qrze. g* fu*& aozi d Td} rre <'B *t ri d6r3 t ft d f f{d'fe'tr
(g) afi ()ir) kd, (a) 3116r (r) *ar&
o rr7. gsfrram rIEdF# ffi +z D{fipa,rerdr d as'e f€s ffu fifur #il urB
* ts ? tsd 3 tr& ufr + & fffi xe'?r i tt ln a science exhibition if
Santokh singh is on 15th place from right side out of tota! 42 teachers standing
in a row,then what will be his place from left side.
(E) zs (Dr) 43 (E) 2e (F) 42

Q 328. The antonym (opposite) of comfort is............

(t) Uncomfort (zf) incomfort (E) discomfort (H) imcomfort

e329. srdf fff,r?t )rrfrro ilfrq )rrftra d fttdt tSridrfdarr f ur,rs ir?r? who
has been conferred the fundamental rights as per lndian constitution?
(g) frtrd Fild.fi alil)rgrft,?fr g; (ro onlv Govt. employees)
(vrr) fFil€ srsl 6r4fuat S (ro onty adutts)
(e) fu{€ &re+ d (To onty teaders)

(E) FG gd$ 6.drtd{'$ (Toatttndian citizens)
q330. t6 fufi{hr Hi'ff,trJ. ffro f<farraml, +k{ f€fdry}r.6 }?r} #€
f€fdr)rt"6 ftrdq *q Edq gdnrfer t? wnicn one of the fo[owingfigures
represents the correct relationship among science, physics and biotogy.

o@ @ eDo
G) (br) (e) (E)

Ans32L.(E) 88 fio 
fu *^::rurr%r*"

Ans 323. (lrr) g# Ans 324. (r) aUrmr srE6r
l

Ans 325. (u) 3/8
*fr€ lrr] l?rfs€ FsErtr rzFss aw* er f {u tl',

ry6 f#fu)rfr fug'dr, rlms'

B5rE



 

 “sMBv Aqy AsMBv ivckwr AMqr kwrj dw hI huMdw hY[” 
skUl is`iKAw ivBwg, pMjwb 

                   aufwx         

CyvIN qoN A`TvIN jmwq dy ividAwrQIAW leI 
SIt nM: 67                 imqI 28-08-2019 

Q 331. ‘AMgUrw’ au~n iks jwnvr qoN pRwpq huMdI hY? ‘Angora’ wool is 

obtained from which animal ? 

(a) ib`lI   (A) Byf    (e) Krgos   (s) b`krI 
Q 332. krMt mwpx vwly XMqr nUM kI ikhw jWdw hY? Equipment used for 

measuring current is called? 

(a) voltmItr  (A) AYmmItr (e) glvYnomItr (s) spIfomItr 
Q 333. BwKVw fYm iks dirAw qy bxwieAw igAw hY? Bhakra Dam is built on 

which river? 

(a) ibAws     (A) rwvI       (e) sqluj      (s) cnwb 
Q 334. Fill in the blank with a suitable feminine noun. 

            The tiger and the…………look after their cubs. 

(a) lioness         (A) empress      (e) tigress        (s) princess  

Q 335. id`qy gey ic`qr iv`c ikMnIAW iqRBujW hn? How many triangles are 

in the given figure? 

 
(a) 7   (A)  5    (e) 6    (s) 8  

not:- au~qr Agly idn dI SIt iv`c Byjy jwxgy, qd q`k idmwgI ksrq kro[ 

SIt nMbr 66 dy shI aùqr 
Ans 326. (s) qMglI      Ans 327. (a) 28   
Ans 328.  (e) discomfort   

Ans 329. (s) swry BwrqI nwgirkw nUM (To all Indian citizens)    Ans 330. (A)  



 “imhnq auh cwbI hY jo s&lqw dw drvwzw KolH idMdI hY[” 
skUl is`iKAw ivBwg, pMjwb 

                   aufwx         

CyvIN qoN A`TvIN jmwq dy ividAwrQIAW leI 
SIt nM: 68                imqI 29-08-2019 

Q 336. sRI hirmMdr swihb dI nINh iks ny r`KI sI? 
Who laid the foundation of Sri Harmandir Sahib? 

(a) guru Arjn dyv jI   (A) bwbw bu`Fw jI  
(e) bwbw gurid`qw jI    (s) sWeI mIAW mIr jI 

Q 337. c`kr dw Gyrw pqw krn dw sUqr kI hY? 
what is the formula for circumference of circle ? 

(a) 2πr   (A) 2πr2   (e) πr2   (s) 2πrh 
Q 338. Pick out adverb from the following sentence. 

   I never cheat anyone. 

(a)  I   (A) never   (e) Cheat   (s) anyone 

Q 339. SWqI inkyqn dI sQwpnw iks ny kIqI? Who established shantiniketan ?  

(a) ribMdr nwQ tYgor Rabindranath Tagore   
(A) mhWqmw gWDI Mahatma Gandhi  

(e) jvwhr lwl nihrU Jawaharlal Nehru        
(s) fw. rwijMdr pRswd Dr. Rajendra Prasad 

Q 340. hyTW id`qy gey ic`qr nUM qih krn qoN bwAd ikhVw Gx bxygw? Which 

of the following cubes can be created by folding the given figure? 
pRSn ic`qr                               au`qr ic`qr 

                     
                    (a)        (A)        (e)      (s) 

not:- au~qr Agly idn dI SIt iv`c Byjy jwxgy, qd q`k idmwgI ksrq kro[ 
SIt nMbr 67 dy shI aùqr 

Ans 331. (e) Krgos      Ans 332. (A) AYmmItr 
Ans 333.  (e) sqluj      Ans 334. (e) tigress            Ans 335. (a) 7  



 “imhnq auh cwbI hY jo s&lqw dw drvwzw KolH idMdI hY[” 
skUl is`iKAw ivBwg, pMjwb 

                   aufwx         

CyvIN qoN A`TvIN jmwq dy ividAwrQIAW leI 
SIt nM: 69                imqI 30-08-2019 

Q 341. How many vowels are there in English Alphabet? 

(a) 21       (A) 3        (e) 5       (s) 26 
Q 342. DrqI AwpxI DurI duAwly iks idSw iv`c GuMmdI hY[ In which 

direction earth rotates around its axis? 
(a) au~qr qoN d`Kx (North to south)  
(A) d`Kx qoN au~qr (South to north) 

      (e) pUrb qoN p`Cm (East to west) 
      (s) p`Cm qoN pUrb (West to east) 
Q 343. ivAwkrn Anuswr kwl qoN Bwv hY –smW, kwl ikMnI pRkwr dw huMdw hY? 
      (a) cwr          (A) ie`k              (e) do              (s) iqMn 
Q 344. ‘mUMgPlI’ pOdy  dw ikhVw Bwg hY? Which part of plant is a peanut ? 
      (a) jVH Root   (A) qxw Stem    

(e) p`qy Leaves    (s) Pu`l Flowers 
Q 345. ic`qr iv`c ivAws ikhVw hY? In the given figure which of the 

following represts Diameter 

                    
     (a) AB           (A) OB   (e)  AC        (s) OC 

 
not:- au~qr Agly idn dI SIt iv`c Byjy jwxgy, qd q`k idmwgI ksrq kro[ 

SIt nMbr 68 dy shI aùqr 
Ans 336. (s) sWeI mIAW mIr jI          Ans 337. (a) 2πr  
Ans 338.  (A) never    Ans 339. (a) ribMdr nwQ tYgor Rabindranath Tagore 
Ans 340 (A)   



.l

Ans 341. (e) 5
Ans 343. (E) B?t
Ans 345 (a) AC

Ans 342 (x) rirrr # yW (W_est to east)
Ans344. (€) rg noot

*!mqs go s'fr ? t.rsrs'er EirflFr *q ffi tr-
P
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